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OSSM=sRNASME TIHE N
50,000& *2,00004 %70/ 100 70,000
NESESUSEUHZEUIA(BEX) 70,000 0 70,000
< 21,000
Al 49,000
402 RI2HXt20l 70,000 0 70,000
< 21,000
Al 49,000
01 22t t= AP E XL 70,000 0 70,000




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
Sel: HBFSASY (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEEEENEEEETRE
5,000% *28,00021 *50/100 70,000
< 21,000
Al 49,000
AMEMASLHRA 9,686,399 9,903,605 A 217,206
= 7,262,259
J| 55,000
< 285,988
Al 2,083,152
SAt2tel X & 69,560 64,360 5,200
201 £B-2d| 23,520 19,520 4,000
01 At 22l 23,520 19,520 4,000
O1.Let==ZH| 5,000
“AENRAYR=A LB=EHl 5,000,000 5,000
O5.2&Hl 2,520
SAZRUYLER OFA2LT S A
7,000 «3F =102 «12& 2,520
06.9xt= 16,000
SSEULSIRYE LBHA YR
400,000 = 10CH 2 23] 16,000
202 04l 3,240 3,240 0
01 S LHOYI 3,240 3,240 0
OAHAUNSRF=E0Hl 20,0002 3«6 *93| 3,240
206 M= Hl 2,000 2,000 0
01 M= 4l 2,000 2,000 0
sEdEs)| 2E7RY(EL 8)
2,000,000& 2,000
301 gt d= 40,800 39,600 1,200
09 HALAHIEA S 40,800 39,600 1,200
Oszgas) 22 1
2,000& +7,500H »23| 30,000
O=sgo s ¥ ASHAXE
60,000& 60 *32 10,800
NN YHALS 1,149,620 1,145,185 4,435
402 RI2HXt20l M 1,149,620 1,145,185 4,435
01 A TtEAEER 1,149,620 1,145,185 4,435
OLEZE MMM STHHX (RPSLE)
3,000 #5653 x7,400ha*70/100 823,620
Ozthlst tHa DS E /MMM X
1,000,000 »200ha*50/100 100,000
OFZAFMM HESIIH X
18,000,000 *22CH 50/ 100 198,000
OOM=E sHSIIo ZZH XA
200,000& *140ha*70/100 19,600
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2N
X ZH -
L= B

el

EEBIERE
SR EEN-ACE
MY S X

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OaE=2a THHHRI A ALY
2,000, 000& *7ha*60/100 8,400
DEZHN 2B SHELH(EX) 140,000 420,000 280,000
< 28,000
Al 112,000
402 2I2H X201 M 140,000 420,000 280,000
< 28,000
Al 112,000
01 B2t AL E X 140,000 420,000 280,000
ONZEY 2+3SHSH
200,000,000% *1JH 2 x70/100 140,000
< 28,000
Al 112,000
HERLSEXNE(EX) 255,000 240,000 15,000
< 76,500
Al 178,500
402 QIZEXtE 0| A 255,000 240,000 15,000
< 76,500
Al 178,500
01 B2t AP E X 255,000 240,000 15,000
OHEIax41(28) &
42,000,000 *109H 2 x50/ 100 210,000
< 63,000
Al 147,000
OHEZ3ZME+ XA
30,000,000 *3JH 2= x50/ 100 45,000
< 13,500
Al 31,500
ESLAESIAHSS(ER) 450,000 430,000 20,000
< 90,000
Al 360,000
402 RI2EX20| M 450,000 430,000 20,000
< 90,000
Al 360,000
01 BI2tt=2 AP E X 450,000 430,000 20,000
Os28sJ1H32 2,000,000 *450CH 50/ 100 450,000
< 90,000
Al 360,000
BASSEANIXNEM AHS22H(EX) 55,000 49,160 5,840
J| 55,000
101 @124 dl 24,205 13,392 10,813
J| 24,205
04 JI2ZHHZ2XEE S 24,205 13,392 10,813
OZXEMAE =2 24,205
i ral:] 48,2403 x 15«30 21,708
J| 21,708




2AM: sgIls4d
U SOFMAYN (SYHL M/ - SE)
Sl AZUAF RIS CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-AEE J|2a82=2 21,708,000& x11.5% 2,497
J| 2,497
201 Bt A H| 14,795 17,768 N2,973
Dl 14,795
01 At 22l ] 14,795 17,768 N2,973
O1.28t=2H| 2,545
-AMENHYRFA Lt H| 2,545,000 2,545
Jl 2,545
O3.2g8=Y 5,250
A HEEO MAIRIRE S 70,000& *75H 5,250
Dl 5,250
O5.= &l 7,000
A EH=X S| 7,000& x20H x50 7,000
Jl 7,000
202 04d| 16,000 18,000 A 2,000
Jl 16,000
01 2L Y| 16,000 18,000 A 2,000
OXNEMIRFE Ul 20,0003 %20 x40 16,000
J| 16,000
MASSEENMIZIENM(EE) 6,500,000 6,742,000 N 242,000
= 6,500,000
301 dEtE A= 6,500,000 6,742,000 N 242,000
= 6,500,000
11 J|EtE A2 6,500,000 6,742,000 A 242,000
OMASHEHEIAEINEM(DEEEZ)
,500,000,000& 6,500,000
= 6,500,000
H=AX™ANEM(EXR) 563,859 356,400 207,459
= 563,859
301 et A= 563,859 356,400 207,459
= 563,859
11 IIEtE A2 563,859 356,400 207,459
OgsHdAEIEM(2E22) 563,859,000& 563,859
= 563,859
XHECNGAEZA2(EX) 248,000 248,000 0
= 198,400
o= 14,880
Al 34,720
301 dBtE A= 248,000 248,000 0
= 198,400
o= 14,880
Al 34,720
11 JIEt2 &= 248,000 248,000 0




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
ool AZAYS LRI SR CED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXAECXNGAZRNENM(ZES)
248,000,000 248,000
2 198,400
< 14,880
Al 34,720
BB S S AIS X R (B X) 52,000 59,500 A7,500
< 15,600
Al 36,400
402 2I2H X201 M 52,000 59,500 A7,500
< 15,600
Al 36,400
01 It 2 AL E X 52,000 59,500 AT,500
o=22d=x) N& 10,000,000 *5CH 50/ 100 25,000
< 7,500
Al 17,500
Od SR8LEI| X8
3,000, 000& =18CH x50/ 100 27,000
< 8,100
Al 18,900
ASTNSEMIXNE(EX) 28,000 35,000 A7,000
< 8,400
Al 19,600
402 RIZER201 A 28,000 35,000 AT7,000
< 8,400
Al 19,600
01 SIZtt=2 AL B X 28,000 35,000 A7,000
OESZSHHEX X
1,000, 000& *20ha*70/100 14,000
< 4,200
Al 9,800
O3, W: MHBEX X3
20,000, 000% 12 2~*70/100 14,000
< 4,200
Al 9,800
HIHBI SOt AFLZ RS X A (EX) 16,000 14,000 2,000
< 4,800
Al 11,200
301 AP B A 16,000 14,000 2,000
= 4,800
Al 11,200
MIIEEE=S 16,000 14,000 2,000
OH MBSt A= S THBHXI&
400, 000& *40ha 16,000
= 4,800
Al 11,200
BSA SEZYMLBI NS HATA(RE) 150,000 0 150,000
< 45,000
Al 105,000




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
Sl AZNAFLN S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 150,000 0 150,000
< 45,000
Al 105,000
01 B2t 2 AL E X 150,000 0 150,000
OMSA RLBYH LBIIHNEFZ X
300,000,000% *1JH 2 x50/ 100 150,000
< 45,000
Al 105,000
HHASHBESNA(2E) 5,760 0 5,760
< 1,728
Al 4,032
201 ¢er24| 5,760 0 5,760
< 1,728
Al 4,032
01 At 22l 5,760 0 5,760
O1.Ler==ZH| 5,760
-HNASHEXN 2=E 6,0008+80F 12 5,760
< 1,728
Al 4,032
LM sSIHX S (EX) 3,600 0 3,600
< 1,080
Al 2,520
301 e A3 3,600 0 3,600
< 1,080
Al 2,520
1MIIEELES 3,600 0 3,600
SLcIUTHE =R 400,000& *9ha 3,600
< 1,080
Al 2,520
HAE S MHAX R 2,179,900 1,689,935 489,965
J| 181,560
= 459,702
Al 1,538,638
ASHSSLNA(RX) 1,225,000 951,000 274,000
< 367,500
Al 857,500
402 BI2HX=01 M 1,225,000 951,000 274,000
< 367,500
Al 857,500
01 It AL E X 1,225,000 951,000 274,000
Oxsx=E=s4 K& 2,000,000,000& *50/100 1,000,000
< 300,000
Al 700,000
ONSZZ2REAY 300,000,000& *50/100 150,000
< 45,000
Al 105,000




AN sg€II=4dH
B SAMHAN (SYNLLL /Y - SE)
S HASZHUATE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OUETHAMAD ST J
150,000, 000& *50/100 75,000
< 22,500
Al 52,500
SHEIMAMA LT MY DXL (EX) 35,000 0 35,000
< 10,500
Al 24,500
402 2I2H X201 M 35,000 0 35,000
< 10,500
Al 24,500
01 B2t AL E X 35,000 0 35,000
O3t MetAld FHEAMD X
70,000, 000% *50/100 35,000
< 10,500
Al 24,500
DFUIOIETHBAIE X (BEx) 258,400 238,350 20,050
J| 103,360
< 46,512
Al 108,528
402 QI2H X201 M 258,400 238,350 20,050
J| 103,360
< 46,512
Al 108,528
01 22t AP E X 258,400 238,350 20,050
ODFHIOLY TMHHAIE K&
20,0003 *25,840m x50/ 100 258,400
J| 103,360
< 46,512
Al 108,528
SEEXASHAMALEUHSIAMNSE (BX) 167,500 0 157,500
J| 63,000
< 28,350
Al 66,150
402 RI2EX 20| ™ 157,500 0 157,500
J| 63,000
< 28,350
Al 66,150
01 22t AP E X 157,500 0 157,500
OHAMEAIE S X
315,000,000& %50/ 100 157,500
J| 63,000
< 28,350
Al 66,150
HAMADIEHE A 466,000 318,000 148,000
402 RI2HXt20l 466,000 318,000 148,000
01 B2t t= AP E XL 466,000 318,000 148,000




AN sg€II=4dH
U SOFMAYN (SYHL M/ - SE)
el AHASE M AT CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OZBUEsNE DE844 X
20,000% *5,0002 *70/100 70,000
OlNFAXI XN 2,500, 000& *50CH *50/100 62,500
OHAUHXI(ZS=)XI& 5003 100,000 *50/100 25,000
OE&ldl &zl XA 8,000, 000& *6CH*50/100 24,000
OANEMAE AXHoHHE X3
250,000 *400€ 70/ 100 70,000
OEVAZ & XI& 13,000, 000 *33ha*50/100 214,500
ANEANZOoHICTESE MR (EX) 38,000 0 38,000
J| 15,200
< 6,840
Al 15,960
402 RI2HXt20l ™ 38,000 0 38,000
J| 15,200
= 6,840
Al 15,960
01 B2t t= AP E XL 38,000 0 38,000
OAMEZJUZO0E ICTes=g=taXd
76,000, 000& *50/100 38,000
J| 15,200
= 6,840
Al 15,960
sZIIBtAIE8 2 &t 3,769,869 5,252,592 A 1,482,723
= 34,000
Xl 1,004,000
= 156,000
Al 2,575,869
sZIIBtAIE =S 1,797,675 1,728,358 69,317
201 Let24d] 7,280 8,120 A B840
01 At 22l 7,280 8,120 A 840
O1.det=2Hl 2,000
—SENLEYRF=A det=ZHl 2,000,000 2,000
05.3 | 1,680
SEEINYYSEA OFA2L2X 2 A
7,000 «2&x102 «12& 1,680
06. 2t 2 3,600
-3 AR S22 FH YR
500,000 2. 4CH*3 3,600
202 oddl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OsZEHedR FHHYI
60,0003 x2H 3 53] 1,800
401 Al HI L 2T 588,595 568,438 20,157
01 A& HI 580,000 560,000 20,000
OsgIIEt &AL 50,000,000& =14 50,000
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fAM: sgIlsdH
B SAMHAN (SYNLLL /Y - SE)
el = IIBHAI L 2 3 (B9 ®R)
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Ost=olitHE sHIIBAIE ALY
100,000, 000& * 14! 100,000
O2d 2EX T Eti==2 ZFHISA
50,000,000& =14 50,000
Ogd=X7 M=X 3LEA A
95,000,000& =14l 95,000
OS+ JIMge 2X+ M=X Z2LEZ A
95,000,000& =14 95,000
Os=7 dZH X7 M=K FLEE At
95,000,000& =14 95,000
O8+ sl 3X+ M=Xl Z2LEZ A
95,000,000& =14l 95,000
03 Al =2 0HHI 8,595 8,438 157
O=IIEtAIZ 2 SHALY AlE 2 THHI
580,000,000 *0.63/100%50%<Z& 2> 1,827
O=gIIEtAIZ 2 aAY BAHESE 22
752,000& *9J4 & 6,768
403 MHXSHHSA=0l& 1,200,000 910,000 290,000
02 SJ1 2SOl CHSHAt 2 X CH & AR I 1,200,000 910,000 290,000
O=clAl€&2 |X 22t 240,000,000 » 14! 240,000
OJI=E U=, S4&X+7 A 2eldl
100,000, 0002 * 14! 100,000
OJIS U3X=7 Eti=Z U SA
100,000, 000& 14! 100,000
OSoll 8422 Eti=2 HHISA
50,000,000& » 14! 50,000
O=0l= U=l Eti==Z U SA
120,000, 000& 14! 120,000
OSdll OHate] S22 HHISA
120,000, 000& 14! 120,000
OgY XE8XF Eti=Z U SA
70,000,000 » 14! 70,000
Osect 23| 20| S22 BLIA
30,000,000& » 14l 30,000
O&ol NEdd StH+==2 HHISAM
70,000,000 » 14! 70,000
OgY stdel s2 ZEIA
150,000, 000& 14! 150,000
OgY stdel s=2 &AX3A
150,000, 000& * 14! 150,000
IS ZEHZEII(TAEH)(EX) 434,000 1,066,000 A 632,000
Xl 304,000
Al 130,000
403 XSS A= 0l & 434,000 1,066,000 A 632,000
Xl 304,000
Al 130,000
02 S| 2SO0l CHEHAH 2 X CH & A+ I 434,000 1,066,000 A 632,000




A sgI=HH
B SAMHAN (SYNLLL /Y - SE)
el = IIBHAI L 2 3 (B9 ®R)
. _ = SfE|
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OFEBE NE17 JNSNE HEE
60,000,000 = 14! 60,000
Xl 42,000
Al 18,000
O3 SZe IHNT INANFBRZ HEH
224,000,000 = 1Al 224,000
Xl 157,000
Al 67,000
O=Est LN JINSA=2 ST F
20,000,000 = 14! 20,000
Xl 14,000
Al 6,000
OJIAH 2482 2MX P JNHFEZ ST
130,000,000 =14l 130,000
N 91,000
Al 39,000
Mo 42 AIEAEH (BX) 40,000 0 40,000
= 12,000
Al 28,000
401 AlEHIZL 2 0HY| 40,000 0 40,000
< 12,000
Al 28,000
01 Al&H| 40,000 0 40,000
OM=a=X HUCHMACH ALY 40,000,000 1A 40,000
o=} 12,000
Al 28,000
AACDNISTEIY (SAZS)(2X) 68,000 1,436,000 1,368,000
= 34,000
Al 34,000
401 AlEHIZ 2 0HY| 68,000 1,427,200 A 1,359,200
= 34,000
Al 34,000
01 Al&H| 68,000 1,427,200 A 1,359,200
OJIHSEHSE s=MESEE B2 8d &K
= At 68,000,000 x 1Al 68,000
= 34,000
Al 34,000
=HE=HOIZ2RELA(BEX) 1,400,000 800,000 600,000
N 700,000
& 140,000
Al 560,000
201 LBt Y| 3,680 0 3,680
Xl 1,840
& 368
Al 1,472
01 AP 22| H| 3,680 0 3,680
O1.98t=2H| 2,000
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AN sg€II=4dH
U SOFMAYN (SYHL M/ - SE)
Chol: melDluAI A 2 E CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
O5.2&Hl 3,234
CENBRAYLED OIAD2N DA
7,000 «3Hx 122 «12& 3,024
sANEEANAEDE FAL =4
7,000 30 13 210
02 2324l 660 0 660
O1.332LHA 660
-—SXNEEEZAE HEIPC HOIH 23
55,000& 123 660
202 Odl 5,400 5,400 0
01 =S LHAYI 5,400 5,400 0
OsAZelgdS=E0El 60,0003 *3F 5«63 5,400
405 RHoHE S HI 550 0 550
01 et EZFHSHI 550 0 550
OsXEZFXAE HEE HEAPC
550,000 = 1CH 550
NS+ ASTEEINEXN(EX) 14,000 30, 162 N 16,162
< 4,000
Al 10,000
401 Al HIZ 201 Y] 14,000 30, 162 A 16,162
< 4,000
Al 10,000
01 A& HI 14,000 30,000 A 16,000
OM=Xl Ns=% SEEI &EXAY
14,000, 000& 14! 14,000
< 4,000
Al 10,000
HE2A I (SE=sE ) (IIEHIIE 73,320 65,180 8,140
Jledul(dstZs3 1) 73,320 65,180 8,140
AU (FEE=sHD) 5,860 6,000 A 140
201 Let249] 5,860 6,000 A 140
01 At 22/l 5,020 5,160 A 140
ORN2Y Let==EH| 3,760,000 3,760
ORAM2Y =St 1,260,000 1,260
02 =24l 840 840 0
ORN2YE 23222 480,000& 480
OsZEHALRFA MRS 360,000& 360
HRZXOU (S E=E ) 56,400 48,000 8,400
202 oddl 56,400 48,000 8,400
01 SLHOYI 56,400 48,000 8,400
OFYUSFAAHL 20,0008 20F«11L 122 52,800
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AN seIIsHE

M. HMSAHH (HESIASsHY)(IIEH/DIE
Sl ISP (ABA S (sl &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Ot 22 X ¢l
20,0003 *20H x3! 3 3,600
HRFXH (MSFsHY) 11,060 11,180 A 120
203 & R =&H| 11,060 11,180 A 120
01 J|22HLRF=AH| 3,300 3,300 0
OJ2ASHIL=XH|(AZ) 3,300,000& 3,300
02 RIS R = XIH| 3,560 3,680 N 120
OFAINMARFEY| 40,000 *894H 3,560
04 2SI L RF=AH| 4,200 4,200 0
ORMSIHSERY (2 :18Y)
350,000& x12& 4,200
sg - sE2dlId(sEdllYEi/sg - ) 3,394,661 3,123,113 271,548
= 152,110
Xl 550,000
= 136,518
Al 2,556,033
SsEEY3 & 1,337,241 962, 153 375,088
sSEXNSASXS 554,058 444,939 109,119
101 @121l 119,556 116,426 3,130
04 JI2ZtH2Z2XNEE S 119,556 116,426 3,130
O=dl & A2 12,910
-0l 24 d| 48,2403 *4H x50 11,578
-AEE JI22E23 11,578,000& *11.5% 1,332
OBiHEl 22 AL (2MAH ATH, 221) 29,046
e raks| 48,240 x9H 60 26,050
-AEE J|&adEg=2 26,050,000& *11.5% 2,996
OYHel Z2¢ Md(ogdXie &F) 48,500
-0l | 200,000& 259 9 & 45,000
28 L 2&EY 140,000& *25H 3,500
Oso A e (oldRe &HE) 29,100
-0l 24 d| 200,000& 15 »0& 27,000
-28 2 203 140,000& *154H 2,100
201 LEt2 Y| 178,562 173,653 4,909
01 At 22l Yl 37,742 34,072 3,670
O1.2ergH| 20,234
~SEXEAY YY) 4,500,0008 4,500
~=EXNCAY BDA 89 20,0008 %1508 3,000
SEHEA L UMD POIRHIAIAL
200,000 20 A~ =12 4,800
—2Ef e Al AE 22,000& x12& 264
—ABAIEOIME Y =8 500,000& *23| 1,000
-EEAN AS 42 350,000& 63| 2,100
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AN sg€II=4dH
B 5o SELMNA(SEHLSM/5Y - 55)
& sZ=&=st N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
I BH =2 280,830& »12& 3,370
-Si0el 2 3t¥4 2HHl 100,000 <123 1,200
03.28=¢ 420
-SEoHEA ot& e BE =Y
0,000& x3H »23| 420
O5.=2 &l 11,088
“XEJNEAY =& OFA2ZRX =S4
7,000 «6H*10€ «12& 5,040
—sZoAEs OIUA2ZRN SA
7,000 9 8 12 6,048
O6.8xt=z 6,000
S N33EAY ESNH, 2401 X
500,000& x123] 6,000
02 2324l 126,820 125,581 1,239
O1.222ILHA 61,200
-Hae3 13,800
= 700,000& 123 8,400
SHA&ED 30,000& 1500 2128 5,400
-NMIIRe3 36,000,000& 36,000
“4otER 3 5,000,000& 5,000
-BE= 4,600,000& 4,600
-l 2E sEd 1,800
R3S 100,000 10 A+ 123 1,200
Hot=ER3 50,0003 100 2 +128 600
O2.49=dl 26,957
“APR A HE 32| 20,045
=24 1,400 204 *95 4 Al 2t 10,640
SR= 1,100 x952 6 Al 2t * 150K A 9,405
-0lEX A=Hl 1,600& 604 *83| *9IH & 6,912
O3. A€ ZHI =Xt 17,869
—BARKNE S 14,869
258 0IoH (2, 582l &)
3,698&3,741m’ 13,835
54 0IGH(JIEt SHAYR)
1, 118& 924 m' 1,034
-0l&X |Xbl 200,000& = 15CH 3,000
O4. Xt & o el 20,794
-SEX 4,636,000 «1CH 4,636
-SE X 3,362,000 »2CH 6,724
-3t =2 Xt 4,717,000& »2H 9,434
03 &Ar2 I 14,000 14,000 0
O% el Z2&X 7,000,000& »23l 14,000
202 (44l 19,440 19,440 0
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SN SYISUE
HE: 59 SELENA(SYHYSM/5 - &)
el sEHES K CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 19,440 19,440 0
OsgaeEdsd ARAFNH
60,0003 x9H 62 3,240
O3 -&H9 32 & us A0
60,0003 *6H 3«73l 7,560
OsZHF20F HEBRMBE 4 0l
60,0003 *8H 3= 0F*63] 8,640
206 M= Hl 80,000 80,000 0
01 M= 4l 80,000 80,000 0
OSARFH U SMY 48 TAGAMY 24
& THE 400& 200,000 80,000
401 Al HI K 201 I 129,500 54,870 74,630
01 A& HI 129,500 54,870 74,630
Os2033 Yo U SLTA
80,000,000& =14l 80,000
OJISoisoaas SAYL: U AU 2
A 11,000, 000& 14 11,000
OERsIAHLUHAIL &~ EHLZ ot B3 A
7,000,000& » 14 7,000
OZci AL A SHOUSHAAE H= 22lAl
a2 M 5,500,000& =14 5,500
OEciEAL A SHOUSHAALE SIANLE &
SWH SAt 6,000,000& » 14! 6,000
O=golate s LEDS UHMBA(FEELS 7L
) 20,000,000& =14 20,000
402 RI2HX20| ™ 20,000 0 20,000
01 B2t AP E XL 20,000 0 20,000
OXZ23 o Y423 M
20,000,000& =104 2 20,000
405 XtAtHE SHI 7,000 550 6,450
01 AR EZFH S 7,000 550 6,450
Osgelaga 48 UIls=AI 2
500,000& *3CH 1,500
Osgolaga 2 1,100, 000& »5CH 5,500
s&E08 =4 194,245 196,545 A 2,300
201 ¢er24l 11,220 10,220 1,000
01 At 2t 2/l 6,320 5,320 1,000
O1.get==2Hl 3,800
—SMAE 7ol sEAWSE WA
4,500& 400 1,800
“EA ®E 2E B2l 2,000,000& 2,000
O5.2&Hl 2,520
-SEQSN YREN 22X 4
7,000 «3Hx102 <122 2,520
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A sgI=HH
HE: 59 SELENA(SYHYSM/5 - &)
el sEHES K CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
03 A2 I 4,900 4,900 0
OstM4-H X3 4,900,000 4,900
206 M = dl 20,000 19,700 300
01 X2 bl 20,000 19,700 300
OMEIINS R sEHIIY ASHE
20,000 *400H 8,000
Ost&sSH & € S2dU3 &I MEH]
2,000,000 x23| 4,000
O4-Hu=E M7 250,000 x84 &~ 2,000
OWE=sge sEig s+
20,000€ *100H 2,000
OGN S28 F&BHW L ZR7Y
100, 000& »20E *x23| 4,000
301 et A= 48,525 52,125 A 3,600
09 HAIAHI EAZ 47,625 51,225 A 3,600
OSIECH SLTCHR WA A 0G|
60,000& x50 x2 6,000
OMEINAE H=2013 FIHAHI
60,000& 80 x2! 9,600
O4-Hg S =2 NHAF Z2IHA Y|
60,000& 10 43| 2,400
O3=28d3g Ww=sZEIF odd] 60,000 x100H 6,000
O4-Het0tS ZEIZEIF 4l 60,0002 *60H x2! 7,200
O=QoIcHH #AQ oA DS ol
60,000& 40 x3 7,200
OMRse ST JIRI| 2N A
7,000 652 1504 &~ 6,825
OSEXNEK M8NMs 28 08
60,000& *40H 2,400
11 JIEtE A2 900 900 0
ORs1 4-H3| A&t 300,000 *304 12 900
307 2iz2to| & 4,200 4,200 0
04 QIZ2tSHAFAFS B X 4,200 4,200 0
OJIEe & THME)d 25 & stitY
6,000, 0002 x70/100 4,200
402 SI2FXHE0| M 110,300 110,300 0
01 QIZEXIEAIE 2 X 110,300 110,300 0
ONSHLUET MATHE 29
5,000,000 *3001 A *60/ 100 90,000
OGS0l YaE2 U2H AXI| AlY
;900,000 x 1021 A «70/100 20,300
SsgolnNsEdA 58,120 52,460 5,660
201 et d]| 32,470 27,020 5,450
01 AFR 22| H| 32,470 27,020 5,450
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AN sg€II=4dH
il z¢  sELIN(sadsd/=d - &)
& sZ=&=st N (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O1.Ler==EH| 15,750
-—SYNEFA =] 2,700,000& 2,700
-Mol s ASws WIHH =
4,500 *2,900% 13,050
03.2g8=¢ 14,200
558 dsus ZdAEH 3,700
c ol 250,000& x1H x 102 2,500
= 120,000& * 1Al 2+ % 102] 1,200
-GAP JIZ2 W s ZAt=Z  130,000& 3% 103! 3,900
“TAR=sMsHNE 2ASE
80,000& x3¥ 103 2,400
-SENSESHHD ALY
80,000& 1 %303 2,400
-2 WE e AN
60,000& x3% 103 1,800
05.3 4| 2,520
-DEEY OFA2L2X A
7,000 «3¥x10L «12& 2,520
206 M= Hl 8,600 8,600 0
01 MHZ 4l 8,600 8,600 0
OEAQ sM=AdWsE M=Hl 10,0002 300 3,000
OsEdsS2ststn 2F MEHl
20,0003 »40H +33| 2,400
OZgsgUs d5u= MEHI
20,000& x160H 3,200
301 gt L= 17,050 16,840 210
09 SALAHIEA S 17,050 16,840 210
OMdisgelads2us =4 7,000& 750 5,250
Osgel & - S22 s ol
60,000& 30 1,800
Osssd Az N sEMELNs N2 10,000
-0l 10,000& 500 5,000
-Hl &t 10,000& 500 5,000
SEMEINS XA 382,900 157,680 225,220
201 2yt 2 Y| 11,520 12,120 A600
01 At 22l 11,520 12,120 A 600
O1.det=2Hl 5,000
—HETRE RFE =2 2,000,000& 2,000
—MEAR e 2 7= MZA 3,000,000 3,000
03.28=¢ 4,000
-HSME) s WA WSAME
100,000 *1H * 108 x4t H 4,000
O5.=2 &l 2,520
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A sgI=HH
HE: 59 SELENA(SYHYSM/5 - &)
el sEHES K CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
MEND =d 22N =4
7,000 x3@x10L x 128 2,520
206 M = Hl 3,020 2,400 620
01 XHZ H| 3,020 2,400 620
OFEI = HWaD| ASME
10,000& 105 *3= =2 *53] 1,500
Os=igazd Tz AsH2
20,000& *38H x23| 1,520
301 LBt A= 11,760 10,560 1,200
09 HAIAHI EAZ 11,760 10,560 1,200
OMES TS L2 WKEIIA o]
60,000& 10 63| 3,600
OMETE SHHH SXHE =
60,000& 10 43| 2,400
OAHIXHS 2 K& S AL AlH| 2 A
10,000 x4 ¥« 12 x12& 5,760
307 212t0| & 8,100 8,100 0
02 QIZHBAAIRE E X 8,100 8,100 0
Os=24225dRs TSsuadHA XA
8,100,000 *1JH & 8,100
402 SI2FXHE0| ™ 348,500 124,500 224,000
01 QIZEXIE2AIE 2 X 348,500 124,500 224,000
Os&0t8 482 E 5,000,000 *4 4 2 20,000
O=s=E0tsg 422t =4 13,000,000 =8JH A~ 104,000
OsZE04d AS3 HE SAEAAH
35,000, 000& *70/100 24,500
OsZEHEg22 6XHAtE 3 Al Y
250,000,000 *80/100 200,000
SO HYUHAEASHA 123,418 86,029 37,389
101 Q121 | 38,730 23,894 14,836
04 JIZtHIZ22XNSE S 38,730 23,894 14,836
OYF2sIAHLUAIE S 2H 12,910
-0l d| 48 240 x4 x50 11,578
A28 J|28e= 11,578,000& *11.5% 1,332
O=SFsIIHLUAMGE A 2 12,910
-0l | 48, 240& 43 60 11,578
A8 J|a8e=2 11,578,000 *11.5% 1,332
OeXMSSIHLUAME A 29 12,910
-0l 21 H| 48 ,240) x4 60 11,578
-AEE J|2a82=2 11,578,000 *11.5% 1,332
201 et 81,688 58,735 22,953
01 AP 22| H| 13,900 9,800 4,100
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fAM: sgIlsdH
M 58 sELIN(sdgrd/s2 - &)
& sZ=&=st N (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O1.9et==2Hl 10,400
-SJIHEY L3t 2,000,000& 2,000
“HRSIIHYHAIE A SOIAHAIAE
200,000 *122 2,400
SURSEIHUWAL A ORI AIA
200,000& 122 2,400
~SIHLUAIRA =&
100, 000& 34 2+ 123 3,600
03.28=¢ 980
-—SJIAYUHAMYE 223 319 =
70,0003 7Y %23 980
O5.=2 &l 2,520
-SIIHEE OF2A2RX 24
7,0003 3 ~10+128 2,520
02 323l 67,788 48,935 18,853
O1.332LHA 31,748
RS IIHYUAME AL 29 7,980
I3 600,000& »12& 7,200
HdotRs 50,000& x12& 600
ot 23 15,000& 123 180
-EAESIASUHAE S 29 7,980
I3 600,000& »12& 7,200
H3R3 50,000& x12& 600
Hdot=ER3 15,000& 123 180
-AU=sIIH BEE 15,788
OO A 83,000 18104 15,023
AW, by 255,000 *3CH 765
O2.9 =4l 6,336
—SJIAYHED Y|
1,100& #24 *BAl 2tx1202 «30H £ 6,336
OS3. A& &l Xl 29,704
-Ed&d & dUsIH =X
150,000& = 181CH 27,150
S RSIAHLUAIE A A2 K228l (54 0]
at) 1, 118& »712m 797
-ERESIAHLUHAIE S HEF A28 (5E
0lat) 1, 118& »712m 797
-SIIHSUAME A SHOIX & 2HEZ0E
FA 2 80,000& x12& 960
206 M= Hl 3,000 2,000 1,000
01 24l 3,000 2,000 1,000
OsJI+22E L YUsIIH W2 7Y
20,0002 1508 3,000
SEXNET M3 e0tsSlal X3 24,500 24,500 0
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AN seIIsHE

HE: 59 SELENA(SYHYSM/5 - &)
?: stasEgy J=NE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 2,184
©ou (=) 80,000& 210t & *123] 1,920
< 576
Al 1,344
206 24 9,000 9,000 0
< 2,700
Al 6,300
01 MHZ 4l 9,000 9,000 0
OsZE0&82gllsus ME
12,500 *30H 20t F 123] 9,000
< 2,700
Al 6,300
Ys4-HI R B HESKE(EX) 5,000 5,000 0
< 1,500
Al 3,500
301 et as 5,000 5,000 0
< 1,500
Al 3,500
09 &AL HI B A S 5,000 5,000 0
OZs4H HMegs N3 20,0003 x50 #53| 5,000
< 1,500
Al 3,500
MEINHSA MEESEXNE(EX) 20,800 20,000 800
< 6,240
Al 14,560
201 Let24d] 20,800 20,000 800
= 6,240
Al 14,560
01 At 22l 20,800 20,000 800
O1.get==2Hl 20,800
~MEHNE Y NRREE 40,0009 %520 20,800
< 6,240
Al 14,560
sELQ L58s T2 2GRA(EX) 5,000 10,000 A5,000
< 1,500
Al 3,500
307 21201 A 5,000 10,000 A5,000
< 1,500
Al 3,500
02 QB AAFEX 5,000 10,000 A5,000
O5ZL0 58S D208 29
5,000,000& 104 & 5,000
< 1,500
Al 3,500
SHMA-HI 2 WHES KB (2x) 6,000 5,000 1,000
< 1,800




2N S SME
HE: 59 SELENA(SYHYSM/5 - &)

?: stasEgy J=NE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 4,200
206 M= Hl 6,000 5,000 1,000
< 1,800
Al 4,200
01 =4l 6,000 5,000 1,000
OstM4-Hale BHEES W2
600,000 *109H 2 6,000
< 1,800
Al 4,200
SHOUALAE USRI (EX) 10,800 10,800 0
S 3,240
Al 7,560
201 €24 8,400 8,400 0
< 2,520
Al 5,880
01 At 22l 8,400 8,400 0
O1.LEt==EH| 1,950
-SZUIE0ANE | WM A
1,950,000 1,950
< 585
Al 1,365
O3.2d=¢ 6,450
-2 Z0HAHE NS 2 A 5,550
S 2AA(IIE) 250,000& x153] 3,750
< 1,125
Al 2,625
©SE2 A= 120,000& *153] 1,800
< 540
Al 1,260
-ZE0AHE RS A2 A Ol
60,000 15X 900
< 270
Al 630
301 AP B A 2,400 2,400 0
< 720
Al 1,680
09 AL HI B2 &S 2,400 2,400 0
OZLDANL DS STXNDK AT O]
60,000& *40H 13 2,400
< 720
Al 1,680
SENCSK BHES N(2X) 15,000 15,000 0
< 4,500
Al 10,500
301 et a = 15,000 15,000 0
< 4,500
Al 10,500
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fAM: sgIlsdH
HM: 5 - s=94NMI L (iagHot_/'\_/\p/_g_g . _'.—__>T=_)

?: stasEgy J=NE
= _ — d =
SA - BB B () - MM - BES Ol &t o e
09 HALAHIEA S 15,000 ,000
SEXNET LM EsU=s
60,0003 x50 *53| 15,000
< 4,500
Al 10,500
P S4-HSI R FRI|BEH(EX) 10,000 ,000
< 3,000
Al 7,000
402 2I2H X201 M 10,000 ,000
< 3,000
Al 7,000
01 It 2 AL E X 10,000 ,000
OYs4-Hal | HEIIBEH
10,000,000& *1JH £ 10,000
< 3,000
Al 7,000
Hedsgodisslgdaidds(EX) 2,000 ,000
< 600
Al 1,400
301 gt d= 2,000 ,000
= 600
Al 1,400
06 BI2HRI =2 2| (4 HI 2,000 ,000
OS23@ Hects ZH LB
2,000,000& x1H 2,000
< 600
Al 1,400
XN #ESA HSEH3 ANE(EX) 10,000 ,000
< 3,000
Al 7,000
307 gl2tol & 10,000 ,000
< 3,000
Al 7,000
02 It M AHE L 10,000 ,000
OXNTSESAHS LA
10,000,000& *1JH £ 10,000
< 3,000
Al 7,000
S P = G PN CES 2,000 ,000
= 600
Al 1,400
301 LAz 2,000 ,000
< 600
Al 1,400
06 BI2+oI = 2| (4 HI 2,000 ,000
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2N

SIS dH

HE: 59 SELENA(SYHYSM/5 - &)
e sIASEA Jl=XE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O4he+ald Helos Ju2a
2,000,000& 1 2,000
& 600
Al 1,400
HES s EJIEESH TR2ME ANH(EX) 15,000 15,000 0
== 4,500
Al 10,500
307 2Iz2t0| & 15,000 15,000 0
= 4,500
Al 10,500
02 DIZFEAAIRE E X 15,000 15,000 0
OBSBSEINFIY T2HEAY
15,000,000 * 10 & 15,000
= 4,500
Al 10,500
SEAME AHIXGNE 2 AMEB(EX) 10,000 0 10,000
= 3,000
Al 7,000
201 et 1,600 0 1,600
= 480
Al 1,120
01 AP 22| H| 1,600 0 1,600
O1.48t4=2H| 640
-IEeY A2 2 6,400 1004 640
= 192
Al 448
03.248¢4 960
-2 BE2EA} 80,000 *2H x63| 960
& 288
Al 672
206 M 24 3,600 0 3,600
= 1,080
Al 2,520
01 T2l 3,600 0 3,600
SEAMNSAHA EEDE HE M=
15,0003 x40 *63| 3,600
o=t 1,080
Al 2,520
301 et A= 4,800 0 4,800
=} 1,440
Al 3,360
09 HAIAHI EAZ 4,800 0 4,800
OsESAMEAHIA 8&Ns A Y|
20,000& *40H 63| 4,800
& 1,440
Al 3,360
SEXNTH 2435@ HA(2F) 2,000 2,000 0
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AN seIIsHE

HE: 59 SELENA(SYHYSM/5 - &)
e sIASEA Jl=XE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 500
Al 1,400
301 LBt A= 2,000 2,000 0
= 600
Al 1,400
06 212to1 =22 (4 HI 2,000 2,000 0
OsZXNENR4L3 oleds HE2A
2,000,000& 1 2,000
& 600
Al 1,400
SEXNCK B3 HIHHIXE(2X) 7,560 7,740 A 180
< 1,512
Al 6,048
301 YerE A 7,560 7,740 £ 180
< 1,512
Al 6,048
09 SHAIAHI E A2 7,560 7,740 A 180
O=s=XN= X3 I8l X¥ 60,0008 x126H 7,560
=} 1,512
Al 6,048
SENSZTRY APHL N (2X) 3,200 3,200 0
< 960
Al 2,240
202 044 3,200 3,200 0
& 960
Al 2,240
04 =Ml st dl 3,200 3,200 0
OSUME= ST WD
3,200,000& 1 3,200
= 960
Al 2,240
HsHUHEMEIDNEXRA(EX) 5,000 10,000 5,000
= 1,500
Al 3,500
201 2ot 2 Y| 1,280 2,000 AT20
< 384
Al 896
01 AP 2t 2] d| 1,280 2,000 ANT20
O1.B8t==H| 300
-AHsHEHE WS WM& 15,000 x205 300
= 90
Al 210
03.2g89x4% 980
—EYH2AAHDE) 250,000 x23| 500
& 150
Al 350
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fAM: sgIlsdH
HM: 5 - s=94NMI L (iagHot_/'\_/\p/_g_g . _'.—__>T=_)

?: stasEgy J=NE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-SE2AAH(E) 120, 0002 »23] x2 Al 2t 480
< 144
Al 336
206 2 b 2,520 2,000 520
< 756
Al 1,764
01 MHZ 4l 2,520 2,000 520
OFsHEUSES HEFY
63,0002 x20% *23| 2,520
< 756
Al 1,764
301 YA 1,200 6,000 £ 4,800
< 360
Al 840
09 &AL HI B &S 1,200 6,000 A 4,800
OFsHEHZSE DIHA Y
60,000 x20H 1,200
< 360
Al 840
HEsIt EXAE RDENA(EX) 30,000 30,000 0
< 9,000
Al 21,000
301 et A= 30,000 30,000 0
< 9,000
Al 21,000
IARPAS =S = 30,000 30,000 0
OFsA =i Eaz 800,000& x5 «53 20,000
< 6,000
Al 14,000
OFsI HE 243 400,000 x5H 52 10,000
< 3,000
Al 7,000
Hso Isdz M2I)2us XNA(BX) 15,000 0 15,000
< 4,500
Al 10,500
201 L2l 4,800 0 4,800
< 1,440
Al 3,360
01 At 2t 2l 4,800 0 4,800
O1.€8t=EH| 800
-AselEsZ3EANE WHME
8,000& 1005 800
< 240
Al 560
O3.2d=¢ 4,000
-SEZAOI2) 250,000& 210t & *83| 4,000
< 1,200
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2N

SIS dH

HE: 59 SELENA(SYHYSM/5 - &)
e sIASEA Jl=XE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 900
Al 2,100
CTEsNE SAME JIIZ2HER ZHE(BEX) 70,000 70,000 0
== 21,000
Al 49,000
402 QI2H X201 M 70,000 70,000 0
= 21,000
Al 49,000
01 QIZEXIEAIE 2 X 70,000 70,000 0]
OFSIRSASNZTHEE F4
100,000,000 x1JH A~ +x70/100 70,000
= 21,000
Al 49,000
SENESSEASNMNNNKFA(BEX) 20,000 20,000 0
= 6,000
Al 14,000
402 SI2vXH=E0| ™ 20,000 20,000 0
= 6,000
Al 14,000
01 QIZEXIE2AIE 2 X 20,000 20,000 0
OSEMgss SRSAAY
20,000,000 * 104 & 20,000
== 6,000
Al 14,000
MEIJNME £ ZOHH XK (EX) 1,360 50,000 A48 ,640
< 270
Al 1,090
301 et A= 1,360 0 1,360
o= 270
Al 1,090
09 HAIAHI EAZ 1,360 0 1,360
OMEINAS = Ha &OtHl X &
20,000 »68H 1,360
= 270
Al 1,090
SENSHES LU ENUXA(RE) 6,000 0 6,000
= 1,800
Al 4,200
301 et A= 6,000 0 6,000
=} 1,800
Al 4,200
09 HAIAHI EAZ 6,000 0 6,000
OSENSHEAUS &It X2
60,000& 100X 6,000
= 1,800
Al 4,200
SASMS2S2HScHIHAUXKR(EX) 40,000 0 40,000
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2N

SIS dH

HE: 59 SELENA(SYHYSM/5 - &)
e sIASEA Jl=XE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 72,000
Al 28,000

405 XHAHF S HI 40,000 0 40,000
= 12,000
Al 28,000

01 AL 2 ZF S| 40,000 0 40,000
OEXZSAMWSIIAH 7L 10,000,0008 <40 40,000
= 12,000
Al 28,000

dE2sdlls NEJIe X4 1,654,380 1,619,900 34,480
2 152,110
N 550,000
= 16,500
Al 935,770

ESHOAII XA (ER) 4,000 5,000 A 1,000
= 2,000
Al 2,000

301 et A= 4,000 5,000 A 1,000
= 2,000
Al 2,000

09 HAIAHI BEAZ 4,000 5,000 A 1,000

OZ=2gsol 173 SEXAE A0

20,000& x40 53] 4,000
2 2,000
Al 2,000

SENENLLHDK(2X) 1,600 1,680 ~80
= 800
Al 800

201 2et2 Y| 200 0 200
=2 100
Al 100

01 AP 22| d| 200 0 200
O1.B8t==H| 200
==X DEWM M 5,000 x40 200
= 100
Al 100

301 et A= 1,400 1,680 A 280
= 700
Al 700

09 HAIAHI BEAZ 1,400 1,680 A 280
OsEXNEX s 4 7,000 x200H 1,400
= 700
Al 700

SXABANHBHOIFE KR (2E) 50,000 50,000 0
Xl 25,000
Al 25,000
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AN sg€II=4dH
HE: 59 SELENA(SYHYSM/5 - &)
&??: 8=l NEJIE &4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 50,000 50,000 0
X 25,000
Al 25,000
01 B2t 2 AL E X 50,000 50,000 0
Os=aaNe HolEY X
50,000,000& =14 2 50,000
Xl 25,000
Al 25,000
NZsgUatg sS4 22 (EX) 1,400 7,300 25,900
= 700
Al 700
201 ¢er24| 1,400 1,300 100
2 700
Al 700
01 At 22l 1,400 1,300 100
O1.Ler==ZH| 350
~MSEEN0E AoAXE MR
7,000& x50 350
= 175
Al 175
O3.2d=¢ 1,050
—MEtESAS MY 70,000& 15H 1,050
= 525
Al 525
sgolE 2H(EX) 20,000 23,920 A 3,920
= 10,000
Al 10,000
201 Yur2 Y| 9,280 10,000 AT20
2 4,640
Al 4,640
01 At 2t 2l 9,280 10,000 AT20
O1.det=2Hl 1,440
-—SYeltis WM MZE
9,000 *40= 40 2+ & 1,440
= 720
Al 720
O3.2d=¢ 7,840
-SSP UUE A=Y 7,840
T Eg2AIE) 250,000& *83| x2 0t & 4,000
= 2,000
Al 2,000
SH2AH(=D)
120, 0003 #83| x2 Al 2+ 21t & 3,840
= 1,920
Al 1,920
301 et d s 10,720 13,920 A 3,200
= 5,360
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AN sg€II=4dH
MY =9 SEUX MsY . SE)
?e?: d2sells X CEE-ED
= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il Bl RE2
Al 5,360
09 A& HI 10,720 13,920 A 3,200
Osgol XA As HAK O
=]l 60,0003 *40H 410t & 9,600
= 4,800
Al 4,800
Osgel = A
7,000 *»40H 40t & 1,120
= 560
Al 560
N2 FSEIIB Il NA(BEX) 750,000 0 750,000
Xl 250,000
Al 500,000
202 Od4dl 2,400 0 2,400
Xl 1,200
Al 1,200
01 = LH o4 1l 2,400 0 2,400
OsagI2 e oyl
60,0003 *4H 2 53] 2,400
Xl 1,200
Al 1,200
207 1R 2 20,000 0 20,000
Xl 10,000
Al 10,000
0184 20,000 0 20,000
OS4EH3 syl AL R
20,000,000 =14l 20,000
Xl 10,000
Al 10,000
401 AIEHI 727,600 0 727,600
X 238,800
Al 488,800
01 A& HI 715,500 0 715,500
O=s 420t 715,500,000 =14 715,500
Xl 232,750
Al 482,750
02 Zeltl 12,100 0 12,100
OsdEIt3 22l bl
12,100, 000& 14 12,100
Xl 6,050
Al 6,050
SEALE 0SS 50,000 50,000 0
Xl 25,000
Al 25,000
307 21201 A 5,000 10,000 A5,000
Xl 2,500
Al 2,500




A sgI=HH
B 5o SELMNA(SEHLSM/5Y - 55)
e M2sglls NEJiet =4 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
02 QI AAIE E X 5,000 10,000 A5,000
Os&EdH2d&E4+naed 5,000,000 * 104 & 5,000
Xl 2,500
Al 2,500
402 SI2F 20| ™ 45,000 40,000 5,000
N 22,500
Al 22,500
01 QA XNSAIEE =X 45,000 40,000 5,000
Os&Ed2d&Ex08 4 45,000,000 * 104 & 45,000
Xl 22,500
Al 22,500
IZYEEI)IsE(EX) 20,000 18,400 1,600
= 10,000
Al 10,000
201 Bt 10,000 5,200 4,800
= 5,000
Al 5,000
01 AP 22| H| 10,000 5,200 4,800
O1.48t=2H| 1,680
~EEEEIZDS DM
21,000 40 »2 1} & 1,680
= 840
Al 840
03.2g89x4% 8,320
—=HOD|ZTYSD|=nNE 2AE 7,840
ESH2AAHIE2) 250,000 *83| x2 0t A 4,000
= 2,000
Al 2,000
SEHAAH(ZD)
120,000 83| 2 A| 2t*x2 0t A 3,840
= 1,920
Al 1,920
-SsHODxYs)l=ns A2 AN 044
60,000& »8H 480
= 240
Al 240
206 M =l 9,440 4,200 5,240
= 4,720
Al 4,720
01 =4l 9,440 4,200 5,240
Osgdo)|x=d=sd|snsE Harry
20,0003 x118H 21 & x23| 9,440
= 4,720
Al 4,720
301 et A= 560 9,000 A 8,440
=2 280
Al 280
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A sgI=HH
HE: 59 SELENA(SYHYSM/5 - &)
e M2sglls NEJiet =4 (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHI EAZ 560 9,000 N 8,440
Osoxd=)|ens HAK 24
7,0009 x40 2t A 560
= 280
Al 280
NEZLANMESSEINLES(EX) 5,760 6,400 A 640
= 2,810
Al 2,950
202 o4 | 5,760 6,400 A 640
2 2,810
Al 2,950
01 2L oIl 5,760 6,400 640
OFSsINWLES N oY)
60,000 x 16 x3 x23| 5,760
= 2,810
Al 2,950
S HY WA (2 E) 110,000 1,000,000 890,000
2 55,000
= 16,500
Al 38,500
405 XHo&HF S HI 110,000 492,916 N 382,916
= 55,000
= 16,500
Al 38,500
01 XA 2 ZF S H| 110,000 492,916 N 382,916
A= IAHZ2Y 11,000,000 = 10CH 110,000
= 55,000
& 16,500
Al 38,500
NEBLAMAH S (2F) 13,600 12,000 1,600
=2 6,800
Al 6,800
202 04d| 13,600 12,000 1,600
= 6,800
Al 6,800
04 =Ml st dl 13,600 12,000 1,600
O=H&gg o4l 5,000,000 =2 10,000
= 5,000
Al 5,000
O8H=zd 3,600,000 x 1 3,600
= 1,800
Al 1,800
NEZRAASHLDSKA(2X) 12,020 26,800 A 14,780
2 6,000
Al 6,020
201 LBt Y| 8,540 17,600 A 9,060
= 4,270
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fAM: sgIlsdH
HE: 59 SELENA(SYHYSM/5 - &)
&??: 8=l NEJIE &4 )
SN HH-S(BN) - MBAY - B il HlnE2
Al 4,270
01 At 22l 8,540 17,600 A 9,060
O2. A W=l 8,540
=224 R /IgusH  2,120,000& 2H 4,240
= 2,120
Al 2,120
“SUAAHSAS Y DS
1,000, 000& *33| 3,000
= 1,500
Al 1,500
HIASDS SRS
500,000& x 18«13 500
= 250
Al 250
-GN ASs e WS 800,000& x13] 800
= 400
Al 400
202 odl 3,480 9,200 A5,720
2 1,730
Al 1,750
01 = LH o4 1l 3,480 9,200 25,720
OJIsES4:R 60,0003 x2H 18 2,160
= 1,080
Al 1,080
Osg3dgdaogay 60,0003 x 1 103 600
=2 300
Al 300
OZAsSUE ol 60,0003 1«53 300
= 150
Al 150
OZgIAs ™l 60,0003 x 1«73 420
= 200
Al 220
ASAEDRSSY (LX) 20,000 25,000 A5,000
= 10,000
Al 10,000
201 YEt2 | 10,000 10,000 0
= 5,000
Al 5,000
01 At 22l 10,000 10,000 0
O1.28 =84l 1,680
-G=sd)l=sd=s M M
21,0003 x40 «2 1t & 1,680
= 840
Al 840
O3.249=¢% 8,320
—SsdAIzNE A=Y 7,840
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fAM: sgIlsdH
B 5o SELMNA(SEHLSM/5Y - 55)
Sel: M2sYlls NEIlY =4 EEREED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
SE2AMOI2) 250,000& *83| x2 10t B 4,000
= 2,000
Al 2,000
SYAA(ZED)
120,000 *83] *2 A| 2t 210t & 3,840
= 1,920
Al 1,920
—E=sdA)sNE A2 A 0dH]
60,0002 x8H 480
= 240
Al 240
206 M= tl 6,240 1,080 5,160
= 3,120
Al 3,120
01 MHZ 4l 6,240 1,080 5,160
OgZsd3allzus Mg+
78,000 *40H »23] 6,240
= 3,120
Al 3,120
301 L2 A F 3,760 13,920 A 10,160
= 1,880
Al 1,880
09 HALAHIEA S 3,760 13,920 A 10,160
OZsd3aAlzsuws 8FZAS 4K ol
20,000 *40H 800
= 400
Al 400
OZsdHAIzswsd &R Ast FAX oYl
60,000& *x40H 2,400
= 1,200
Al 1,200
O8=&aA)|sns &L 24
7,000 x40 20t & 560
=2 280
Al 280
HEsIzUs(EX) 4,000 4,000 0
= 2,000
Al 2,000
201 2ok Y| 4,000 4,000 0
= 2,000
Al 2,000
01 At 22l 4,000 4,000 0
O1.28 =84l 4,000
=80 dEuW=s Wi MZE 50002 *800% 4,000
= 2,000
Al 2,000
st uasus(2X) 6,000 2,400 3,600
= 3,000
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fAM: sgIlsdH
MY =9 SEUX =9 . 5&)
?e?: d2sells X )
= - — SHE]|
SN HH-S(BN) - MBAY - B e 2t
Al 3,000
201 LeH2d 1,850 0 1,850
= 925
Al 925
01 At 2t 2l 1,850 0 1,850
O3.249=¢% 1,850
“Chst 224 BB DS TALY 1,850
sg2 =) 250,000& x53| 1,250
= 625
Al 625
SEEZ A= 120,000& *53] 600
= 300
Al 300
206 M= Hl 4,150 2,400 1,750
= 2,075
Al 2,075
01 =8l 4,150 2,400 1,750
Sl It 20,7503 x40 «53] 4,150
= 2,075
Al 2,075
FEgetEgEot ) 50,000 50,000 0
= 25,000
Al 25,000
402 RIZ2HR= 50,000 50,000 0
= 25,000
Al 25,000
01 It 2 AL B X 50,000 50,000 0
o&=d datel AEAY
50,000,000 104 2 50,000
= 25,000
Al 25,000
AsHESZA 30,000 30,000 0
= 15,000
Al 15,000
301 Lt &t 30,000 30,000 0
= 15,000
Al 15,000
11 JIEtE4 30,000 30,000 0
OA=sXi 800,000& x5 53 20,000
= 10,000
Al 10,000
OA=sk HE 400,000& x5H 53 10,000
= 5,000
Al 5,000
6RO =22 500,000 0 500,000
Xl 250,000
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2N
X ZH -
L= B

el

2 O o

=PI
o SEUHNA(SYHLLL/ 5L - &)
2=9dls NEIIY =4

= - - HE!
Ko Z3 B2 (BH) - NRAY - HES 0l & o e 2
Al 250,000
101 124 dl 12,910 12,910
Xl 6,455
Al 6,455
04 JI12HH22NSES 12,910 12,910
OBX&tY =22 d AHAMY 29 12,910
-l 24| 48,2403 x4 F 60 11,578
Xl 5,789
Al 5,789
-AHEE D223 11,578,000 *11.5% 1,332
N 666
Al 666
201 LBt2H| 17,630 17,630
Xl 8,815
Al 8,815
01 At 22l 17,630 17,630
O1.¢ 82| 6,330
-6Xt&tYE HRFE >EH| 2,330,000 2,330
Xl 1,165
Al 1,165
BAMENE W ¥ K2 ME
20,000 x20& * 103 4,000
Xl 2,000
Al 2,000
O3.28=+¢ 11,300
-B6XAYE s BAE 9,800
SEHEAANOIZ) 250,000& *203| 5,000
Xl 2,500
Al 2,500
S 2AH(ZD 120,000 x203| 2 Al 2+ 4,800
N 2,400
Al 2,400
-6xt&tE W= 22 A O4Hl 60,000 x25H 1,500
Xl 750
Al 750
206 M= Hl 6,000 6,000
N 3,000
Al 3,000
01 M= 4l 6,000 6,000
Oextdted 2282 s¢tEg 2 1838 #¢
100, 000& x6& 103! 6,000
Xl 3,000
Al 3,000
207 Aoy 16,500 16,500
Xl 8,250
Al 8,250
01 A2 ESHI 16,500 16,500
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AN sg€II=4dH
B 5o SELMNA(SEHLSM/5Y - 55)
oel: Meseldle XTIl X4 (S5 &)
= - — L=
SA - BB B () - MM - BES Ol &t o San HmEET
OASHE2L|ASBIE(HACCP)HEGH 258
== 16,500, 000& 13| 16,500
Xl 8,250
Al 8,250
301 gt 4= 1,960 0 1,960
X 980
Al 980
09 HALAHIEA S 1,960 0 1,960
O6xtaty W= AT 24 7,0008 ~40F +73] 1,960
Xl 980
Al 980
307 21201 A 20,000 0 20,000
Xl 10,000
Al 10,000
04 QIZFHALAIH B = 20,000 0 20,000
O6aeteY EX=se HAEE
20,000,000 =104 2 20,000
Xl 10,000
Al 10,000
402 RIZ2FXt20l ™ 425,000 0 425,000
Xl 212,500
Al 212,500
01 A=A EX 425,000 0 425,000
O6xtated =229 AlH 425,000,000 170 £ 425,000
Xl 212,500
Al 212,500
SEMEMLEHASIE(EX) 6,000 0 6,000
= 3,000
Al 3,000
201 Let24d] 1,140 0 1,140
=2 570
Al 570
01 At 22l 1,140 0 1,140
O1.Let==ZH| 1,140
—SEXNZ ALY AAIHE M
10,0002 1148 1,140
= 570
Al 570
202 o4dl 4,860 0 4,860
= 2,430
Al 2,430
01 = LH o4 1l 4,860 0 4,860
OsEXNEZ ALY =& Hdl 60,0003 27 3L 4,860
= 2,430
Al 2,430
HE2HBH (sEXA ) (IEHIIEL) 201,755 189,016 12,739
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AN seIIsHE

HM: HH2HAAH (s=XK ) (IIEH/IIEH
e JI2dH(s=XEW) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Jl2dH(s&X& W) 127,324 117,550 9,774
SEASIH(s=XK D) 38,524 36,970 1,554
201 et d| 38,524 36,970 1,554
01 AL 22l H| 38,044 36,490 1,554
ORNSY Lot 4,530,0008! 4,530
OsoaEAs Yeragy|
100,000 x 150 A =12 18,000
OssXNgl MaABEH| 6,000,000& 6,000
Ogzy| (L= 50,0002 1 x118L 5,900
OBNME&YE S| 2,030,000& 2,030
O=2AD| Xt 132,000 »12& 1,584
02 E2=2=2%H| 480 480 0
OBNMEY 22232 480,000 480
AL=XHH (s=X) 84,600 76,320 8,280
202 04d| 84,600 76,320 8,280
01 2L I 84,600 76,320 8,280
OFRIYRF=A0HH| 20,0003 x18H x11L x12& 47,520
OMENS 22X ol
20,000& x18H x3 3 & 3,240
OSHASA NEB2RY FRELF=X0NY| 33,840
el A (M), S0IR,EY,REZ, S22
) 20,0002 x6H «17 x12& 24,480
-JlEt&E A 20,0003 x3H x13L x12& 9,360
HR XY (SEXNAD) 4,200 4,260 A B0
203 €2 F=&d| 4,200 4,260 A 60
04 ENSIELRF=XH| 4,200 4,260 A 60
OBA2Y dRxz=XH(H:299)
350,000 x12& 4,200
QlER2AH|(s=X &) 74,431 71,466 2,965
SIS A (SEXAD) 74,431 71,466 2,965
101 Q121 H] 74,431 71,466 2,965
03 RIAHL*ZZXHE S 74,431 71,466 2,965
Os=sJH %2l 74,431
-Jl=3 1,317,170 x2H x 12& 31,613
= 1,317,170 x22 x400% 10,538
-d32sY 1,317,170 2% x50%*23| 2,635
s 80,000& 2 x12& 1,920
—-2=JH4A 2 60,000 & 2 x12& 1,440
-=5d 60,560& x2&H x523= 6,299
-AX= 82,730& 2 x4 3,972
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PN
2ZUH(sE )(DIEH/DIE})
A2l (=&
5 - 4
A ZE a9 (3) - HRAY - BYS e
- U A 130,000& x2H x12& 3,120
-wE 22| 70,0003 x2H 128 1,680
e = 50,0003 x2H 128 1,200
-E 2 F 0l 1,317, 1703 »2H x120% 3,162
—2HAlH| 50,000 x2H 128 1,200
-l 50,0003 x2H 128 1,200
g 40,0003 x2H 128 960
M= e 1,317, 1702 »2H x 10%* 123 3,162
-Igs 130, 000& »2H 260
—-OHM 3} 35,000 x2H 70
B4 AW AS (SN M/ - &) 357,103 6,923,028
= 751,234
J| 947,134
< 1,265,518
Al ,393,217
SMLASENR ,368,240 1,014,510
J| 186,780
< 248,596
Al 932,864
MOtE 2 67,090 40,840
201 £ty 18,720 18,720
01 At 2teld 17,160 17,160
O1.ggk= 13,800
- 2,700,000& 2,700
—SAHAl Z2XE s
4,500& 5002 2,250
-FTALH S ZIINY wsks |2
4,500& 500 2,250
-5 0t& 550,000& x12& 6,600
O5.2gH 3,360
-S ok 224 =4
000& »4H 10 128 3,360
02 =224l 1,560 1,560
O01.338R 1,560
-S0tE 100,000& =122 1,200
-50t& 30,000& x12& 360
202 oddl 4,320 4,320
01 = LH o4 1l 4,320 4,320
O=udH
60,000 *4H 32 63| 4,320
206 T 2 bl 8,000 8,000
01 = 8l 8,000 8,000
O=s8t - EAI| Hdl Il o Ol & 8,000
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AN sg€II=4dH
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
s 50,0002 x40S *x2& 4,000
- X+ TH 100,000& »40= 4,000
301 gt d= 36,050 9,800 26,250
06 212toI =2l 04 Hl 26,250 0 26,250
OFTALI E =¢tsIt =54 ol 2 A sk o4l
2,500,000& 15 x70/100 26,250
09 SAAHIEA S 9,800 9,800 0
O=F4tsIt Il &4 dl 60,0003 *20H 1,200
OBt2lo & A BAX OFH]
60,000& *60H 3,600
OZHs 285 =30 € Mze B4
800,000& 45 3,200
OFRES SMHA HASIH 0l
60,000& *15H 23| 1,800
Sagd A& 287,900 229,800 58,100
301 et d =S 50,000 0 50,000
NMIEEd= 50,000 0 50,000
Ogt*1N==® a6t ¥z NE
100, 000& 5005 50,000
402 RI2EA=201 A 237,900 229,800 8,100
01 It AL E X 237,900 229,800 8,100
OSHXl 2183438 LYY N
15,000& *2,0005 *60/ 100 18,000
OSMAEEZMNE X
4,000,000& =157 2~ 60/ 100 36,000
Ox E3E MWHMESEX XN
50,000& *5005 =60/ 100 15,000
OFdsI &30 X
300,000 *300CH =60/ 100 54,000
OStSF WA AL 10,000& *4,0005 *60/ 100 24,000
O=At2el8 CCTVE Xl X &
2,500,000 2001 2 x60/100 30,000
Osgt2 Mg Ns=20101 X&E
13,000,000 *5CH 60/ 100 39,000
ox=EssJt €20 N&
1,000, 000& *20CH 60/ 100 12,000
Ot +Fe 04 X8
550,000& *305 *60/ 100 9,900
SOOI MAI A () 20,000 10,000 10,000
< 6,000
Al 14,000
307 glz2+ol & 20,000 10,000 10,000
< 6,000
Al 14,000
02 HAFHAANFEE 20,000 10,000 10,000




M sellsdH
HE: BN WY S (SPHSLN/5Y - 55)
el SMASKR (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
OSOtAI At FH ALY 10,000& »2,0005 20,000
S 6,000
Al 14,000
SMS0 2435 ME(EX) 408,000 0 408,000
Jl 181,500
= 67,950
Al 158,550
307 212t0l & 408,000 0 408,000
Il 181,500
= 67,950
Al 158,550
02 QB AAMHE X 408,000 0 408,000
Ozx=1d SOHME
30,000& *1,500 » 102! 70/ 100 315,000
Jl 135,000
S 54,000
Al 126,000
OAMalEse sO0tME 30,000 x150E 10 45,000
Il 22,500
= 6,750
Al 15,750
OMNg=s0tME 40,000& 1208 10 48,000
Jl 24,000
S 7,200
Al 16,800
SYETAANG(2F) 96,020 49,200 46,820
< 22,956
Al 73,064
402 12t Xt=01 & 96,020 49,200 46,820
& 22,956
Al 73,064
012 tEAMdEE 96,020 49,200 46,820
O=2gZ= HAAMY  600,000& 1905 +50/100 57,000
< 11,400
Al 45,600
OR=ditd MuEHl X&
10,000, 000& *2JH 2 60/ 100 12,000
S 3,600
Al 8,400
OXN=HAIE 24X3
1,250& *2,0007H x80/100 2,000
S 450
Al 1,550
OSHXl HyZH Xa
15,000 *2, 0005 60/ 100 18,000
S 5,400
Al 12,600
Og=EsJt olsAEA K&
600,000 120K 2 %60/ 100 4,320
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AN sg€II=4dH
HE: BN WY S (SPHSLN/5Y - 55)
el EMASTH CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
< 1,296
Al 3,024
OYE HHAZZ07| N
900,000& *5J4 A +60/100 2,700
< 810
Al 1,890
SHRMSBAIH (B X) 72,000 71,600 400
< 21,250
Al 50,750
307 glz2tol & 56,600 71,600 A 15,000
< 16,620
Al 39,980
02 RIZFEA MM E X 56,600 71,600 A 15,000
Oste =S54l XN 6,000& x5,5005 33,000
< 9,900
Al 23,100
Oete A =AY 60,000& 1005 6,000
= 1,440
Al 4,560
Ogte R¥s" 2&AHMD 1,000& x6,0005 6,000
< 1,800
Al 4,200
Ogte dg & AMtHl XI& 10,000& 6005 6,000
< 1,800
Al 4,200
Oe=X& &2l 2,0002 *3,5005 *80/100 5,600
< 1,680
Al 3,920
402 RIZ2EX201 ™ 15,400 0 15,400
< 4,630
Al 10,770
01 It =2 AL B X 15,400 0 15,400
OB +TEt 014 A Y
550,000& 405 *70/100 15,400
< 4,630
Al 10,770
2Z2I| AR 2(EX) 121,520 84,000 37,520
< 36,306
Al 85,214
402 RIZFX20l A 121,520 84,000 37,520
< 36,306
Al 85,214
01 St At B X 121,520 84,000 37,520
ozgs= XY 8,000 8,900kg*60/ 100 42,720
= 12,816
Al 29,904
Oonsegsll XN& 1,000,000% *17CH 60/ 100 10,200
< 3,060
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C HE =BT
Ha: B4 FWY YS(SHYLA/5 - 5E)
=

SN FE - EA(SA) - MRAY - BES il Bl RE2
Al 7,140
OXsHLI X 2,000,000 x17CH*60/100 20,400
< 6,120
Al 14,280
Og=M2 H2HED X
6,000, 000& 571 2 +60/100 18,000
= 5,400
Al 12,600
ogs X& At 25,000& *1, 120& 60/ 100 16,800
= 5,040
Al 11,760
OZE HASIHH X
20,000 *9507H =60/ 100 11,400
< 3,420
Al 7,980
OEZEY 28 & 500,000 5z *80/100 2,000
< 450
Al 1,550
LA ALGN(BX) 19,440 39,600 220,160
< 5,832
Al 13,608
402 RIZ2EXt201 ™ 19,440 39,600 220,160
< 5,832
Al 13,608
01 It =2 AL B X 19,440 39,600 220,160
OF; F=a= = BUNE-| 80& x280, 00071 =60/ 100 13,440
< 4,032
Al 9,408
OLH Ns=+=&X X
7,000, 000& *1JH 2 *60/100 4,200
S 1,260
Al 2,940
OSAHAN Z2& XA 5,000& *6007H =60/ 100 1,800
< 540
Al 1,260
Z2YUSIREHCEXR(EX) 90,600 105,000 214,400
< 27,180
Al 63,420
402 RIZEX20l A 90,600 30,000 60,600
= 27,180
Al 63,420
01 It 2 AL B X 90,600 30,000 60,600
OF&sIt H#AWLFH XY
30,000, 000& *5CH*50/100 75,000
< 22,500
Al 52,500
Ogt2 MAEXs=30101 X&
13,000, 000& *2JH 2~ x60/ 100 15,600
< 4,680
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 10,920
IETH BEE XN (2X) 35,000 38,250 A3,250
< 10,500
Al 24,500
301 LBt A= 35,000 38,250 N 3,250
= 10,500
Al 24,500
11 JIEtE A2 35,000 38,250 N 3,250
OJI=Mol 282 K&
4,000,000 *35JH A~ %x25/100 35,000
& 10,500
Al 24,500
YAASHUN(EX) 68,850 14,400 54,450
= 26,655
Al 42,195
307 21240 52,050 6,000 46,050
< 21,615
Al 30,435
02 DIZHEAAIRE E X 52,050 6,000 46,050
O LRI /AN (B14])
1,500,000 x75 *50/100 5,250
= 1,575
Al 3,675
OUMATRFAIS (SR E)
3,000,0009 7= 60/ 100 12,600
= 3,780
Al 8,820
OLMATIAAL (ZR)
1,000,000 7S5 +60/100 4,200
= 1,260
Al 2,940
OOl FEZ MM X2
50,000,000 «1J1 A *60/ 100 30,000
& 15,000
Al 15,000
402 BI2H X201 M 16,800 8,400 8,400
& 5,040
Al 11,760
01 QIZEXIE2AIE 2 X 16,800 8,400 8,400
OHAI B S ALY 12,000, 000 25 +70/100 16,800
= 5,040
Al 11,760
SR8 3 HA&EZ XL 7,000 7,000 0
307 2izto| A 7,000 7,000 0
04 QIZ2tSHALALS B = 7,000 7,000 0
Osta s AR 10,000,000 x70/100 7,000
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A sgI=HH

HE: BN WY S (SPHSLN/5Y - 55)

e SAMASXSE (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
EANSIE IR (BEX) 48,060 50,400 N2,340

= 17,523
Al 30,537
402 SI2FXFE0| M 48,060 50,400 N2,340
& 17,523
Al 30,537
01 AANEAEEX 48,060 50,400 N2,340
MeH AEew)l VA
2,000,000 =17CH *60/ 100 20,400
= 6,120
Al 14,280
5t AEY A2 FESHAAE K&
150, 000 230 70/ 100 24,150
= 10,350
Al 13,800
AN AE22010] KN
200,000 1090 A~ +60/100 1,200
< 360
Al 840
AN HEFME XN
1,300,000 20K A~ 60/ 100 1,560
== 468
Al 1,092
AN s3I X
250,000 *5JH 2~ *60/100 750
== 225
Al 525
IEZHUHLX KR (B E) 16,200 0 16,200
= 4,860
Al 11,340
402 SI2FXHE0| & 16,200 0 16,200
o= 4,860
Al 11,340
01 AANEAIGEX 16,200 0 16,200
E=ANEIIAIE X2 300,000 *90H A 60/ 100 16,200
& 4,860
Al 11,340
SEO 7Y (EX) 10,560 0 10,560
J| 5,280
& 1,584
Al 3,696
402 QI2F X2 0| & 10,560 0 10,560
J| 5,280
== 1,584
Al 3,696
01 A2t SAIE E =X 10,560 0 10,560
SS0H(EL) 2 X
17,600, 000 «15+60/100 10,560
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
el BMASTE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 5,280
& 1,584
Al 3,696
SEMNEIRH 3,344,040 3,637,968 A 293,928
J| 641,485
= 502,615
Al 2,199,940
FENEI2H 1,027,170 1,018,870 8,300
201 gBt24y| 7,320 4,320 3,000
01 AP 22| H| 4,320 4,320 0
O1.48t=2H| 1,800
-SMAFA 22 Lot E2H| 1,800,000 1,800
O5. 34| 2,520
SENAYALET OIADLT B4
7,000 x3E*x10L x 128 2,520
02 Z2=2=24%4| 3,000 0 3,000
O3. Al & &H| S XYl 3,000
-OHH| 2 A& & H| S X244 3,000,000& 3,000
202 04 H| 2,700 2,700 0
01 2Ll 2,700 2,700 0
OSMAAAD ZTOIH|
60,0003 »3H 3 53| 2,700
206 M = Hl 10,000 8,000 2,000
01 X2 H| 10,000 8,000 2,000
OoIAeM CHHl AFHNBXNMAE M P&
2,000 %x2,5004 =23 10,000
301 Bt A= 1,200 0 1,200
09 HAIAHI EAZ 1,200 0 1,200
OXMz HIGH &&X AES
60,000& 20 13| 1,200
402 SI2vXH=20| ™ 1,005,950 1,003,850 2,100
01 QIZEXIE2AIE 2 X 1,005,950 1,003,850 2,100
OZE=e ZARMATY X
10,000,000 =10CH 60/ 100 60,000
OLZEXTAZ I HEZ2 KNHAHA
100,000 *2,000X *70/100 140,000
OMNE sII ZAI2 M ALY X
4,000,000 =10CH 60/ 100 24,000
OFZMNEHNEE SLHAE
3,000 *350 X *400= *60/100 252,000
Ol &H X& 1,500,000 *30CH 60/ 100 27,000
OAdFzEXNs SZMAH X
1,500 22,0004 *50% *60/100 90,000
OFEZE AFUXMA XA 86,500
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AN sg€II=4dH
HE: BN WY S (SPHSLN/5Y - 55)
LR Sl E )
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
s 3,000 23,500 *50/ 100 35,250
-IIMEMM(EES)
2,500 *24,000kg*50/ 100 30,000
-0l S MM (H0lI8)
1,500& *1,500kg* 10 x50/ 100 11,250
SAEHE(HZ2RE S)
5,000, 000& *4Z=+50/100 10,000
O Y|l AaHHl XI&
15,000& %20, 000 *60/ 100 180,000
OGMsI &I XANsSME XS
6,000% *45,000% *40/ 100 108,000
Od=sIt HHl 4HMZH K&
5,000& *350kg*185 *70/100 22,050
OAMelXl &8 MSX3AY
1,400,000& *10CH 60/ 100 8,400
OUHIMEXE A HMAHAIE X
8,000,000 *2J1 2 *50/100 8,000
NS MTAANS(BEX) 79,400 91,800 A 12,400
< 23,820
Al 55,580
402 RIZ2EX20| A 79,400 91,800 A 12,400
= 23,820
Al 55,580
01 It 2 AL B X 79,400 91,800 A 12,400
Oozed lE2HA XA
120, 000& *350 Ml E +70/100 29,400
< 8,820
Al 20,580
OLSE dH ML DIAZINAE K&
4,000, 000& *25CH *50/100 50,000
< 15,000
Al 35,000
IS M XNAAG (BX) 256,670 276,700 A 20,030
J| 120,685
< 40,795
Al 95,190
402 RIZEX20l A 256,670 276,700 A 20,030
J| 120,685
= 40,795
Al 95,190
01 It 2 AL B X 256,670 276,700 220,030
ON=E2a el Xl 256,670,000 » 14! 256,670
J| 120,685
< 40,795
Al 95,190
TASHADIBIEHSAIY(EX) 1,489,200 1,625,538 A 136,338
J| 520,800
< 290,520
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2N

X{ XH -
S =

CHB G (BN) - HRAMY - BES il HlnE2
Al 677,880
402 RI2EX20| A ,489,200 1,521,000 A 31,800
| 520,800
< 290,520
Al 677,880
01 It 2 AL E X ,489,200 1,521,000 A 31,800
OAPL2IXI M =t Xl &
60,000& *22,000& 90/ 100 , 188,000
| 396,000
= 237,600
Al 554,400
OMZEREENH XA 151,200, 000& 14 151,200
J| 64,800
< 25,920
Al 60,480
OwAEMel(HLRYH) N
100, 000& = 1,000= *30/100 30,000
J| 30,000
OFEHIIHZY X
150,000, 000& *2 Al £ %40/100 120,000
J| 30,000
= 27,000
Al 63,000
ANBMATI A (2X) 423,600 562,500 138,900
= 127,080
Al 296,520
402 RI2HX20l 423,600 562,500 A 138,900
< 127,080
Al 296,520
01 A TtEAEER 423,600 562,500 A 138,900
OZAE Mamyl X
40,000,000 13Kl E+60/100 312,000
< 93,600
Al 218,400
OAtZHHE DI X & 30,000, 000% *5CH *60/100 90,000
< 27,000
Al 63,000
O2Z AL XNEHI] XA
9,000, 000& *4CH*60/100 21,600
< 6,480
Al 15,120
BAAFH NI MRS (EX) 9,200 12,160 A 2,960
< 2,760
Al 6,440
206 M= Hl 3,200 8,560 25,360
< 960
Al 2,240
01 T2l 3,200 8,560 A5,360
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2N
X ZH -
L= B

el

Il Mg
P AW ASHSYHY LM/ - 5E)
9 A |

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 40,752 42,600 AN 1,848
09 HAIAHI EAZ 1,440 480 960

OFMAM Jlsusw EA&=sIF o]
60,000& »8H 480
OBtS ST Al WX0Z L D8 &8s
Jb (4t 60,000 *8H x23| 960
11 JIEtE2 A= 39,312 42,120 N 2,808
OSNE 88438 R20 XY
1,400 x6CH x184 =260 39,312
402 BI2H X 20| M 72,400 72,400 0
01 QIZEXIEAIE 2 X 72,400 72,400 0
Od=sIt =28 NMEM X
40,0002 *800= 50/ 100 16,000
OdYd=sJl HEgstE) A&
3,500,000 x10CH *60/100 21,000
Ozt ZH3M X
800! *40,000JH 60/ 100 19,200
OFANE HHXF 40,0002 *3005%60/100 7,200
ORA NHEEH XNE
3,000,000 «5JH 2~ +60/100 9,000
S ALY (EX) 1,400 1,400 0
& 420
Al 980
307 giztol A 1,400 1,400 0
& 420
Al 980
02 QIZ2FA AAIE E X 1,400 1,400 0
Of2 2dA8AY 2,000€ *1,000%*70/100 1,400
= 420
Al 980
NASEINAG(EX) 14,500 14,500 0
= 4,350
Al 10,150
01 LEtE A2 14,500 14,500 0
& 4,350
Al 10,150
11 J|EtE A2 14,500 14,500 0
OFEASE MEAY 58,000 2505 14,500
& 4,350
Al 10,150
AHMEEE2AMTK(EX) 24,000 30,000 A 6,000
== 7,200
Al 16,800
307 2Iz2to| & 24,000 30,000 A 6,000
= 7,200




2N
X ZH -
L= B

el

=AHlH

=T

W B (SPHLSL/5Y - 52)
M7

SA - BB B (EH) - NRAY - BES of & o San HI D2
Al 16,800
02 HAHFHUANEEE 24,000 30,000 A6,000
OZHEZEZA(DNA) X 30,0003 800+ 24,000
< 7,200
Al 16,800
SMS0HM(ER) 85,560 77,190 8,370
J| 42,780
£ 12,834
Al 29,946
307 212t0 & 85,560 77,190 8,370
Il 42,780
S 12,834
Al 29,946
02 QB AP EE 85,560 77,190 8,370
OSSO0/ MAH (HEZZHI)
9,300& x9,2005 85,560
Jl 42,780
S 12,834
Al 29,946
SME(HACCP)AEE XA (ExX) 28,000 28,000 0
J| 16,000
= 3,600
Al 8,400
307 212t0l & 28,000 28,000 0
J| 16,000
= 3,600
Al 8,400
02 QItB AL E X 28,000 28,000 0
OSASHACCPA HE (=&)X &
,000,000& 5 2 +70/100 28,000
J| 16,000
S 3,600
Al 8,400
S4sIIXHAI R (BX) 82,200 67,800 14,400
== 24,660
Al 57,540
402 QI2tXt=01 ™ 82,200 67,800 14,400
= 24,660
Al 57,540
01 A=A EE X 82,200 67,800 14,400
OZsZdl N3 50,000,000 =2CH =60/ 100 60,000
= 18,000
Al 42,000
OMNEXRHS=s0171 NE
13,000, 000& = 12K 2 60/ 100 7,800
& 2,340
Al 5,460
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
Sl BN M CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ORRABATAE N
12,000, 000 «2J1 A *60/ 100 14,400
& 4,320
Al 10,080
MIDI0IEZHHMAEXNR(EX) 18,900 18,900 0
== 5,670
Al 13,230
307 2Iz2t0| & 18,900 18,900 0
& 5,670
Al 13,230
02 DIZFEAAIRE E X 18,900 18,900 0
OMDI0IEAF=EM CIEH XA
18,900,000& »1H 18,900
= 5,670
Al 13,230
ASTHERNZ2ZTEIXA(EX) 72,100 74,200 A2,100
= 21,630
Al 50,470
402 SI2FXH=20| ™ 72,100 74,200 A2,100
= 21,630
Al 50,470
01 QIZEXIE2AIE 2 X 72,100 74,200 A2,100
OASHHE FBEEIINA
3,000,000 x21CH =70/100 44,100
== 13,230
Al 30,870
OdssaE) RUx«A
4,000,000 =10CH *70/100 28,000
& 8,400
Al 19,600
EMEAMHSTHEAMIA(EX) 10,000 10,000 0
= 2,000
Al 8,000
201 Yete | 10,000 10,000 0
= 2,000
Al 8,000
03 HAI2 G H| 10,000 10,000 0
OFMNEAEIFASHA A& 10,000, 000& 10,000
= 2,000
Al 8,000
HEASAE 0I=SHl XNRF(EX) 14,700 19,600 A 4,900
& 4,410
Al 10,290
301 LBt A= 14,700 19,600 A 4,900
& 4,410
Al 10,290
11 JIEtE2 A= 14,700 19,600 A 4,900
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A sgI=HH
HE: BN WY S (SPHSLN/5Y - 55)
NP (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OrEBHAFZAME SH K&
700,000 *309H A +70/100 14,700
& 4,410
Al 10,290
II=EAZE EXEAIE X (EX) 560,000 0 560,000
== 168,000
Al 392,000
402 BI2H X201 M 560,000 0 560,000
= 168,000
Al 392,000
01 QIZEXIE2AIE 2 X 560,000 0 560,000
OJNESAE HEXZOAIE XS
800,000,000 x1JH 2~ x70/100 560,000
= 168,000
Al 392,000
Ise 9 X3 2,559,031 1,761,540 797,491
= 751,234
J| 60,089
= 259,533
Al 1,488,175
fsgdEANE A 141,426 138,388 3,038
201 et d| 32,506 24,968 7,538
01 A2t 2| H| 13,972 10,372 3,600
O1. 482 H| 3,600
-Jisgte bt ZH| 1,800,000 1,800
-2HYE Y os2eE 222 M&
1,800,000 1,800
O5.2&H| 2,772
JIsYHEAdR2=X 221 S A
7,000 x38x11L x 128 2,772
O6. 4 Xtz 7,600
s MY HAIE 2 24| - 28Xt
2k A Xt 500,000 83| 4,000
-2 A L0 A F=HYI
300,000 1 A x12€ 3,600
02 2224 18,534 14,596 3,938
O1.2Z22=22 Al 3,360
SJIEYHYE2ISgRE SUE AIS2
80,000 x12& 960
22 2 B8 = 500,000 »3CH 1,500
-B402 A BEE 100,000& »9H 900
O3. Al &H| S X dl 1,200
- s YA MY S X 22 200,000 x2CH *x33] 1,200
O4. xH&FH eyl 13,974
“EX(SEASER) 5,318,000 «2LH 10,636
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2AMH: 590
==,

PSRN CElpL = oYM/ 52 - &)
SER EE P (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
-A~g3 =2 3,338,000 = 1CH 3,338
202 oddl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
ONEY AR= oyl
60,0003 x2H x3 53] 1,800
OZEYALIAN YABE FH0IY|
20,0003 «1H 52 «12& 1,200
206 M= Hl 20,900 20,900 0
01 =8l 20,900 20,900 0
OLMASY & #eig A5oE 2
4,200% *500= *33| 6,300
ONsueEs A28 ¥ LAINMN 2L
7,300,000& »23| 14,600
301 L2 LS 85,020 89,520 A 4,500
09 HALAHIE& S 1,020 1,020 0
Onsdgu=s &8It o8l 60,0008 *17H 1,020
1MIIEESS 84,000 88,500 A 4,500
OAldIEx=29 = 900,000& x5H x12& 54,000
OJ=dgY At eltl 30,000& 505 1,500
OEZ4det ZAMEFH 3,000& *9,5005 28,500
IS AERLHI(EX) 342,614 342,614 0
=2 223,854
< 35,627
Al 83,133
206 M= Hl 206,988 206,988 0
= 138,463
< 20,557
Al 47,968
01 =8l 206,988 206,988 0
OJsgdAZ A A 206,988,000& 206,988
= 138,463
< 20,557
Al 47,968
402 RIZ2EXt20l ™ 135,626 135,626 0
= 85,391
< 15,070
Al 35,165
01 A=A EX 135,626 135,626 0
OYXIMIHOoIAA BHAL XT&ALS
2,000 39,7805 *60/100 47,736
= 23,868
= 7,160
Al 16,708
OF M Al XJA
2,000& *87,8905 x50/ 100 87,890
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
= 61,523
& 7,910
Al 18,457
ASXNKF2EH(EX) 59,550 59,550 0
J| 29,775
= 8,932
Al 20,843
307 2Iz2t0| A 59,550 59,550 0
J| 29,775
o= 8,932
Al 20,843
02 QIZ2HA AAIE E X 59,550 59,550 0
OS2 M 29| 59,550, 000& 59,550
J| 29,775
=} 8,932
Al 20,843
ASAUHEZSTR(EX) 60,630 60,630 0
J| 30,314
= 9,095
Al 21,221
307 QI2t0| & 60,630 60,630 0
J| 30,314
& 9,095
Al 21,221
02 AI2tAAMAIE E =X 60,630 60,630 0
O2s28 Y MHEZHI 60,630,000 60,630
J| 30,314
= 9,095
Al 21,221
=SSESAIY 807,840 204,560 603,280
201 et d| 4,900 0 4,900
01 AFR 2t 2| H| 2,900 0 2,900
O1. 482 H| 2,900
-RJIsSE BEsHy ZEEI} =42
1,300,000 x2H 2,600
-SJI0IE =42 300,000& 13| 300
03 HAI2 HHI 2,000 0 2,000
Ottedis=2 A2 E 2,000,000 *13] 2,000
206 M = H| 2,000 2,000 0
01 X2 H| 2,000 2,000 0
LI - 0OMssS ZE X 2
200,000 = 107K 2,000
301 LBt A= 136,380 180,500 N44.120
11 JIEtE A2 136,380 180,500 N44.120
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2AMH: 590
==,

g 2 A ot/ sd - sE)
SER EE P (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZud0l =43 == X&
75,000& =300t 2| 128 27,000
ORJlsE #*&Hl 35,0003 =840t el x128 35,280
ORIIsS= A= 1,200& 1500t 2| #365 65,700
O0M=sE X8 & 22/t
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SA - BB B () - MM - BES Ol &t o San HmEET
- O3EUZED
9,000, 000& *20CH *50/100 90,000
-k ™| 9,000, 000& *5CH*50/100 22,500
-SE0 =D 9,000,000 *4CH*50/100 18,000
-SSD| 20,000, 000% *4CH*25/100 20,000
OLZE etdy MaXA 142,500
~EMSHAUALE S
120, 000& *2,000& *50/ 100 120,000
=g =N 30& *1,500,0000H1 *50/100 22,500
OMZFUY SAFKA XNE A
130, 000& *550g*50/ 100 35,750
Ol=sJt ELHEH XA
15,000& *80 X »130ha*70/100 109,200
Oitz= &&d s XN&
100, 000& *23] *200ha*50/ 100 20,000
Ol =Lte 2 H X&
660,000& *100ha*50/100 33,000
Ot T2 Ze|AAD ek XJ
25,0003 *16H 33| *20ha*70/100 16,800
Oltz=sJt &xANE BHE &
80,000 *600& *70/ 100 33,600
Oltz=sJt lEZ&I| XA
150, 000& *50CH *70/ 100 5,250
Ol HIJIZAE XI&
240,000,000% *1ha*80/100 192,000
Otz LAl B2 H X 77,700
-ZsH 60,000& *53] *350ha*50/ 100 52,500
-0t uls 36,000 *43] x350ha*50/ 100 25,200
O==sJt 8J1&dlg N&
8,500% * 150 x500ha*70/ 100 446,250
Odsgel &8 sIIH N3
10,000,000 » 1201 2 x50/ 100 60,000
=Dl 308,412 281,781 26,631
101 14l 3,767 3,486 281
4 D122 E2EXNSEES 3,767 3,486 281
OZJII=2d 2¢ A
48,2403 »1H+20 A +152 1,448
ONLSEB A 12| 48,2403 x»4H x10 1,930
o4 2" JI2RE3 3,378,000& *11.5% 389
201 LB-2E| 4,520 4,520 0
01 At 22l 4,520 4,520 0
O1.det=2Hl 2,000
“DHAIEES YREA Ly
2,000,000& 2,000
O5. 2 &l 2,520
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A sgI=HH
HM: s I3 (s2HlYSi/sYH - s5)
el sEAMS B4 JEAY (sl &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
-SRI =E2 0222 A 24l
7,000 x3@x10L x 128 2,520
202 04| 3,240 3,240 0
01 2L I 3,240 3,240 0
ONx=H2=X0H| 60,000 *3H 3L x63] 3,240
206 M = dl 2,000 2,000 0
01 X2 bl 2,000 2,000 0
OZJI==2d 24 MEH|
50,000 *20= 20 A 2,000
301 et A= 4,920 4,920 0
09 SHAIAHI B A2 4,920 4,920 0
O30 s WU
60,000& x40 *x23| 4,800
O30t S&EII3 EFHAX 2t4
2,000 *60H *13] 120
402 SI2FXHE0| & 289,965 263,615 26,350
01 QIZEXIE2AIE 2 X 289,965 263,615 26,350
O&XA 2t4=2HE 0|28 I&d=s A"
1,100, 000& *50ha*70/ 100 38,500
OAFDE JH3EDl S&toll ALY 88,900
-ZJI= 70,000 1,000 *70/100 49,000
-2 900,000 *30CH 70/ 100 18,900
-2 60,000 5002 *70/ 100 21,000
OREAHCPK LSHESAS2AHY
592,900<! *150ha*70/ 100 62,255
OAF JIXIRQ Z2AST AY
4,000,000 *10ha*70/100 28,000
OAE E3 &= gAY
74,000,000& *0.5ha*x70/100 25,900
O Z2& 088 EXME AlEY
13,000 150X *34ha*70/ 100 46,410
sIIASEA JDsEs 2,390,880 2,419,950 N 29,070
J| 730,000
& 486,611
Al 1,174,269
WL=MAAMBEHY D (EX) 360,530 230,750 129,780
o= 78,506
Al 282,024
402 SI2HXHE0| ™ 360,530 230,750 129,780
=} 78,506
Al 282,024
01 QIZEXIE2AIE 2 X 360,530 230,750 129,780
Oltz= MG A K& 228,000
-SE20 x| 9,000,000 *24CH 50/ 100 108,000
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2N
X ZH -
L= B

el

SIS dH

SA - BB B () - MM - BES Ol &t o San HmEET
== 21,600
Al 86,400
D F SR II(SSII)
20,000, 0002 *24CH 25/100 120,000
= 24,000
Al 96,000
Outa MAHZEZ & FEHML XN 68,530
-&EZ AL A SHA 276,000 *10ha*50/100 1,380
< 276
Al 1,104
~BaE TR
1,000, 000% *32ha*50/100 16,000
< 3,200
Al 12,800
-obA HIIME M 102,300,000 * 141 %50/ 100 51,150
= 10,230
Al 40,920
OFTALSU M H+=HStAY
128,000, 000& =141 x50/100 64,000
= 19,200
Al 44,800
FIEERX N (EX) 180,000 242,500 A 62,500
< 36,000
Al 144,000
402 RI2EXt20l ™ 180,000 242,500 A 62,500
< 36,000
Al 144,000
01 EIATtEAEEX 180,000 242,500 262,500
OUSAEsIIIEMN2MED &
20,000,000& =18 x50/ 100 180,000
= 36,000
Al 144,000
BEDEALSHUSAIS (2 X) 842,500 1,250,000 A 407,500
J| 337,000
< 151,650
Al 353,850
402 RIZ2FX20l ™ 842,500 1,250,000 A 407,500
J| 337,000
< 151,650
Al 353,850
01 A=A EX 842,500 1,250,000 A 407,500
O DEEANLSEUSFAY
1,685,000,000& *14] %50/ 100 842,500
J| 337,000
< 151,650
Al 353,850
NSEEStAE A (EX) 180,000 180,000 0
< 90,000
Al 90,000




AR
X ZH -
L= B
el

2= e

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 180,000 180,000 0
== 90,000
Al 90,000
01 QIZEXIEAIE 2 X 180,000 180,000 0
OUZEXM MANSASHS T2 AN
225,000,000 x1&+ X *80/100 180,000
< 90,000
Al 90,000
ESXNS(HA)MAANLSEUHSRNK(EX) 10,000 10,000 0
= 3,000
Al 7,000
402 BI2H X201 M 10,000 10,000 0
= 3,000
Al 7,000
01 QIZEXIE2AIE 2 X 10,000 10,000 0
OLEZIHA AMEZS E=2AE
10,000,000 *1JH & 10,000
& 3,000
Al 7,000
DNEZZEXNMEANSUEAIEH(EX) 10,000 10,000 0
= 3,000
Al 7,000
402 SI2vXHE0| ™ 10,000 10,000 0
= 3,000
Al 7,000
01 QIZEXIE2AIE 2 X 10,000 10,000 0
ONEBIEZTHE NHESLEAH
10,000,000 *1JH 2 10,000
= 3,000
Al 7,000
=M E It RIAIB (B X) 9,600 19,200 A9,600
o= 2,880
Al 6,720
402 SI2FXHE0| ™ 9,600 19,200 A 9,600
o=} 2,880
Al 6,720
01 QIZEXIE2AIE 2 X 9,600 19,200 A9,600
OBLBHE LAY
12,000,000 =11 2«80/ 9,600
= 2,880
Al 6,720
NN ZA2R VES E2(BX) 40,000 0 40,000
= 12,000
Al 28,000
402 SI2vXHE0| & 40,000 0 40,000
= 12,000
Al 28,000
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2N
X ZH -
L= B

el

SIS dH

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 BIZtt2 AL E X 40,000 0 40,000
ONSRY ZANR MBS 22
40,000,000& =104 2 40,000
< 12,000
Al 28,000
SHSYUHSHELNS XA (EX) 20,000 20,000 0
< 6,000
Al 14,000
201 Yet2 | 6,100 8,000 A1,900
= 1,830
Al 4,270
01 At 2t 2/l 6,100 8,000 1,900
O1.det==2Hl 1,100
-2 U AEE 5 72 1,100,000 1,100
= 330
Al 770
03.2g8=¢ 1,400
-QIZtHERE =Y 70,0003 20 13| 1,400
< 420
Al 980
O4.11 =l 3,600
-E=s 2 150,000& 24 H 3,600
< 1,080
Al 2,520
202 04 tl 5,000 5,000 0
< 1,500
Al 3,500
01 = LH 4 di 5,000 5,000 0
Ogoi=SH & bl 20,0003 «10H 52 «53] 5,000
< 1,500
Al 3,500
206 TH 2 Hl 8,900 7,000 1,900
< 2,670
Al 6,230
01 =4l 8,900 7,000 1,900
OHolsoEZH M2 890,000 107 £ 8,900
< 2,670
Al 6,230
RedIETANHIIsEsANE(BX) 31,000 20,000 11,000
< 9,300
Al 21,700
402 RI2HXt20l ™ 31,000 20,000 11,000
< 9,300
Al 21,700
01 A TtEAEER 31,000 20,000 11,000
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2N

SIS dH

HE: 59 IR (SPHYLL/5Y - 55)
Sl SHASHA JeES o HE)
= - 4 14
SA - B SR(SH) - HRAY - BES e &
OREBLEZAL JIZ2SA S
31,000,000 *17H 4 31,000
= 9,300
Al 21,700
DESANH2S%HINSAE(BE) 50,000 50,000 0
= 15,000
Al 35,000
402 BT 0| A 50,000 50,000 0
= 15,000
Al 35,000
R ENEES 50,000 50,000 0
OMBSA B2 5% Hel)lsAH
50,000,000 *1JH & 50,000
= 15,000
Al 35,000
NEHASSHSRES NN (2X) 10,000 0 10,000
= 3,000
Al 7,000
402 U220 A 10,000 0 10,000
= 3,000
Al 7,000
R ENEES 10,000 0 10,000
ONEMLA2HE RSHANLAIE
10,000,000 *1JH & 10,000
= 3,000
Al 7,000
AHRYBEBLSNS LA (AE)(2XE) 60,000 50,000 10,000
= 18,000
Al 42,000
206 TH 2 bl 4,000 4,000 0
= 1,200
Al 2,800
01 HE Yl 4,000 4,000 0
OEZAAE ALY 4,0002*1,000kg 4,000
= 1,200
Al 2,800
301 LB A 5,000 5,000 0
= 1,500
Al 3,500
09 BAMAIHI 2 &3 5,000 5,000 0
OMY SOH01Hl B4 60,0002 x302 x23] 3,600
= 1,080
Al 2,520
O®IIsl 34 7,0002 + 1002 »23l 1,400
= 420
Al 980
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2N
X ZH -
L= B

el

SIS dH

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
402 BI2FX=01 M 51,000 41,000 10,000
< 15,300
Al 35,700
01 B2t 2 AL E X 51,000 41,000 10,000
OAHINLES BLTNSH
51,000,000 =104 2 51,000
< 15,300
Al 35,700
PeENIsAHMAZAEAME (BX) 8,000 0 8,000
< 2,400
Al 5,600
402 2I2H X201 M 8,000 0 8,000
< 2,400
Al 5,600
01 It 2 AL E X 8,000 0 8,000
OR=ATETUN Al AL
5,000,000 24 2«80/ 100 8,000
< 2,400
Al 5,600
Lo|MAZ MDA ETZHANE(EX) 30,000 0 30,000
< 9,000
Al 21,000
402 RI2EX20| ™ 30,000 0 30,000
= 9,000
Al 21,000
01 B2t AP E X 30,000 0 30,000
OmIIM ZHNBAXHAY
30,000,000& =14 2 30,000
< 9,000
Al 21,000
AETHAADIEZ0| 2 M2 Kb (2 X) 8,000 0 8,000
= 2,400
Al 5,600
402 RI2HXt20l ™ 8,000 0 8,000
= 2,400
Al 5,600
01 B2t t= AP E X 8,000 0 8,000
OAN&ETHA ADIEZ0IR A 24T bh Al
8,000,000 =14 2 8,000
< 2,400
Al 5,600
ADHLIAA OIS HAELAE(EX) 50,000 0 50,000
< 15,000
Al 35,000
402 RI2tXt20l M 50,000 0 50,000
< 15,000
Al 35,000
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AN sg€II=4dH
M g J=E3(sgdgddt/=g - &)
Sl Meselle BMRT (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 1,050
01 = LH o4 1l 2,100 2,100 0
OSIIHSEES U HX 0H2 ol
60,0003 x5& *73| 2,100
2 1,050
Al 1,050
S8 ASIAMN BH(EX) 3,840 4,320 A 480
= 3,840
202 O4dl 1,280 1,440 A 160
= 1,280
01 = LH o4 1l 1,280 1,440 A 160
Osd28 AS T A (bl 20,000& 325 »23| 1,280
= 1,280
301 et A=z 2,560 2,880 A 320
= 2,560
MIIEBE4d3 2,560 2,880 A 320
OsdtE ASXZAL Atel2 40,0002 325 #23] 2,560
= 2,560
syl (Bx) 32,065 30,551 1,514
= 16,000
Al 16,065
101 @14 dl 22,915 10,951 11,964
2 11,425
Al 11,490
04 JIZHHZ2XNHEE S 22,915 10,951 11,964
OELHFXA 12,910
i ral:] 48,2403 x2H x120 11,578
= 5,789
Al 5,789
-AHEE J2RE3 11,578,000& *11.5% 1,332
2 636
Al 696
OZEd satzels JHEX 10,005
i ral:] 48,2403 x2H x93 8,973
= 4,486
Al 4,487
-AHEE JI2RE3 8,973,000& x11.5% 1,032
= 514
Al 518
401 AIEHI L 2CHEI 4,500 0 4,500
= 2,250
Al 2,250
01 A& Hl 4,500 0 4,500
OZedda &FMH 4,500,000& =14 4,500
= 2,250
Al 2,250
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2N
X ZH -
L= B
el

BRI
s JlesE2a (=g sE)
sl sHeeg ?EH)
% = SRE]
S BB S(SA) - ByS e
405 XHoHF S HI 4,650 2,900 1,750
= 2,325
Al 2,325
01 XY 2 ZFH S| 4,650 2,900 1,750
Og2& et 2,500,000& 2,500
= 1,250
Al 1,250
Os2diolE 750,000& 750
= 375
Al 375
OEZANZHF I 1,400,000& 1,400
= 700
Al 700
NeSs=sLIa™2s AN R (2X) 10,005 10,056 A51
= 4,000
Al 6,005
101 124 dl 10,005 10,056 A5
= 4,000
Al 6,005
4 D122 E2EXREES 10,005 10,056 A 51
Ost34 B +5 10,005
] 48,2403 x2H x93 8,973
= 3,588
Al 5,385
-4UEE J&=2 8,973,000& x11.5% 1,032
= 412
Al 620
Zdis 84 NA(EX) 30,000 30,000 0
= 15,000
Al 15,000
201 Let24d] 6,800 6,800 0
= 3,400
Al 3,400
01 At 22l 6,800 6,800 0
O1.d8 =84l 600
2As WE @9 60,000 x5& »23| 600
= 300
Al 300
O3.2d=¢ 6,200
-2as s & 310,000 x4 «53] 6,200
= 3,100
Al 3,100
301 L2 A F 5,200 5,200 0
= 2,600
Al 2,600
09 HALAHIEA S 5,200 5,200 0
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fAM: sgIlsdH
M g J=E3(sgdgddt/=g - &)
Hesollz Ha423 SR CED
SN HH-S(BN) - MBAY - B il HlnE2
OZas A NEHHI 60,000& *x40H 2,400
2 1,200
Al 1,200
OZdiLsus FAL = 7,000& x50 «83| 2,800
2 1,400
Al 1,400
307 glz2tol & 18,000 18,000 0
= 9,000
Al 9,000
02 It M AHE L 18,000 18,000 0
Os)ZYTe U 2 &
0,000& x10= It 18,000
2 9,000
Al 9,000
ANe=sAEHSI=RNE(BEX) 320,000 0 320,000
Xl 160,000
Al 160,000
201 £B-2dH| 16,600 0 16,600
Xl 8,300
Al 8,300
01 At 224l 16,600 0 16,600
O1.eet=2H| 14,780
-MED HME 222 A 10,000, 000& 10,000
Xl 5,000
Al 5,000
NG9 E8S AIE 423 2 1,980, 000& 1,980
Xl 990
Al 990
~ar@l goldl sle e |l
,000& *20F *43| 2,800
Xl 1,400
Al 1,400
O3.2d=¢ 980
-XNAEHS AP 980
J2 250,000& *23| 500
Xl 250
Al 250
=t 120,000& »23] x2 Al 2t 480
Xl 240
Al 240
O5.2 &l 840
NsUSHs =X =N
00 4 30 840
Xl 420
Al 420
206 = Hl 15,000 0 15,000
Xl 7,500
Al 7,500
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SN SIS
3 59 I3 (=8l dt/sY - 58)
el Mesells HM2D EEREED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 =8l 15,000 0 15,000
OEE#AE WE P (MBI HE S)
30,0003 25001 23| 15,000
Xl 7,500
Al 7,500
301 LEtE A= 12,400 0 12,400
Xl 6,200
Al 6,200
09 HALAHI E& S 12,400 0 12,400
O&ZEIl oM a2 FAX 2H24
20,0003 20 *43| 1,600
Xl 800
Al 800
OXY=d S43 Atddl #IXI0HY
60,0002 x180H 10,800
Xl 5,400
Al 5,400
307 glz2tol & 50,000 0 50,000
Xl 25,000
Al 25,000
02 LIt HAMHEE 50,000 0 50,000
O&ZI DANE MH=sd
50,000,000 =104 2 50,000
Xl 25,000
Al 25,000
402 212t X 20/ & 226,000 0 226,000
Xl 113,000
Al 113,000
01 It AL E X 226,000 0 226,000
O&ZI AlE HH ML 245}
24,000& *4,000m 96,000
X 48,000
Al 48,000
O&LZEI HEazd 22 43t
50,000,000& =14l 50,000
Xl 25,000
Al 25,000
O&ZEI 25 43 &1 X
80,000,000 =14l 80,000
Xl 40,000
Al 40,000
SHSYUHSHELMAILE (EX) 13,799 20,200 A6,401
= 6,900
Al 6,899
101 14 Hl 8,069 12,444 A4,375
= 4,035
Al 4,034
04 JIZHHZ22XEE S 8,069 12,444 N4, 375
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2N
X ZH -
L= B

el

. - IE
Y. B9 (3H) - HEAMY - BES e HDE2
OdoisozEE & 29 oAl
48,2403 =150 7,236
= 3,618
Al 3,618
o4t I8 7,236,000& *11.5% 833
= 417
Al 416
206 M = Hl 5,730 7,400 N 1,670
= 2,865
Al 2,865
01 X2 Hl 5,730 7,400 AN 1,670
OgisSHEE XE SAME 7¢
110,000& *3& 330
= 165
Al 165
OAFL2H MEF 300, 000& *18H £~ 5,400
= 2,700
Al 2,700
ASE &SI (BX 200,000 100,000 100,000
= 100,000
Al 100,000
402 Q2+ X2 0| & 200,000 89,600 110,400
= 100,000
Al 100,000
01 DIZtAI2AMEEX 200,000 89,600 110,400
OFREE MES EHXIAIE
200,000,000& * 14 200,000
= 100,000
Al 100,000
SEMLIE(BEX) 20,000 50,000 A 30,000
= 10,000
Al 10,000
402 Q12+ X 20| & 20,000 50,000 A 30,000
= 10,000
Al 10,000
01 DIZtAI2AMEEX 20,000 50,000 A 30,000
O#& 2| = Tt X4 bl SA Y
,000,000& *1JH A~ 20,000
= 10,000
Al 10,000
ASAYBUALBIITE (2F) 8,800 8,800 0
2 4,400
Al 4,400
201 et bl 3,100 3,100 0
2 1,550
Al 1,550
01 At 22l Yl 3,100 3,100 0




AN sg€II=4dH
B 59 )P (SN LN/5Y - 55)
€ dEsgls 423 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O1.Ler==EH| 3,100
-ZA=s W=suM ME 8,000&*x25+100% 1,600
- 800
Al 800
Yas L ALY ALE 2
120,000& *53] 600
- 300
Al 300
Yirs 27 B2 L 29
60,000& x153] 900
- 450
Al 450
202 Odl 3,120 2,600 520
= 1,560
Al 1,560
01 S LHAYI 3,120 2,600 520
OZAs A 2tel =30
20,0003 x138 «123] 3,120
- 1,560
Al 1,560
301 gt L= 2,580 3,100 A 520
= 1,290
Al 1,290
09 SALAHIEA S 2,580 3,100 A 520
OZaxs ZBIGH IO OHl 60,0003 36X 2,160
= 1,080
Al 1,080
Odas Botsl FIHA =4 7,000& x60H 420
= 210
Al 210
MEESIEICES 170,000 0 170,000
= 85,000
Al 85,000
402 RI2EX 20| ™ 170,000 0 170,000
= 85,000
Al 85,000
01 B2t AP E X 170,000 0 170,000
OICT 8 2= MHM=01D| 018l E=AM4 70,000
-ER2= As=010], dAZelAlA"E &X
35,000,000& *2= It 70,000
= 35,000
Al 35,000
OICTEE IH=ZEE L SATHHM Y AIAE A
Xl 12,000, 000& *5H 60,000
= 30,000
Al 30,000
Ot= MNEE dcl&oll USHAH AIAE X
40,000,000 =14 40,000
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AN seIIsHE
B 59 )P (SN LN/5Y - 55)
EE-PIEE N o E)
CHE - SRA(SH) - A il 2
= 20,000
Al 20,000
HH2IIH (Dl )(D1EH/DIEL) 118,727 109,979 8,748
A2IH(II=E31) 69,733 66,715 3,018
Neold2dd (Ols22m) 69,733 66,715 3,018
101 Q124 4] 69,733 66,715 3,018
03 RIHAZ 22 = 69,733 66,715 3,018
OsZdgzel 35,489
-Jl23 1,247 1702 <18« 128 14,967
&= 1,247, 1703 « 1 «400% 4,989
-HE SOt 1,247 1702 18 «120% 1,497
-HHZ A 130,000 1 122 1,560
s 60,0003 x1H « 122 720
-AX==E 72,1783 x1H »20L 1,444
=54 57,3403 1 »52= 2,982
2503 50,0003 x1H »12& 600
-d32+d 1,247, 1703 12 «50%*23 1,248
-2k A 50,0003 x1H »12& 600
-l 50,0003 x1H » 128 600
-?lg+=g 40,000 x1H 128 480
s 2 X 70,0003 x1H » 128 840
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